‘ Basic

‘ Roller Lever

‘ One Way Roller Lever

‘Straight Plunger

‘ Roller Plunger

‘Cross Roller Plunger

‘Toggle Lever

‘ Push Button (Mushroom)

‘ Push Button (Extended)

| Push Button (Flush)

‘ Twist Selector (2 position)

‘ Key Selector (2 position)

‘ Twist Selector (3 position)

‘ Foot Pedal

‘Push-PuII

3.5-1

Mechanical Valve

Series VM

Model

VM1000

Dimensions (mm)

Pegg 11 X 36 X 16

Bottom 11 X 28 X 25

VM100

VM200

ey 17 X 44 X 25

Bottom 17 X 44 X 30

25 X 40 X 52

Cod B
e JEL

L[
@’lm
por | i
- O
il N
= O O
& O
= O
5y O
P3.5-7 P.3.5-11 P3.5-19
Effective Area (Cv) 1 (0.055) 2.5(0.14) 19 (1)
Number of Ports 2,3 2,3 2,3
Poppet Poppet Poppet
Function 8 ZIBDA) T N T /\/\{jA) o
1(P) 1(P) 3(R) 1(P) 1{P) 3(R 1P, 1(P) 3(R)




Series VM

=

Mechanical Valve
VM400 [ VZM500[ |VZM400[] [VFM300[] |VFEM200 VM800
21 X 35 X 53 18 X 28 X 87 18 X 30 X 91 26 X 35 X 94 23 X 40 X 115 30 X 40 X 57
| | | | | |
B :
e - N
. . . . . Roller Lever
D@L
’:\.‘ :
@ o @ @ @
@
® ® ® ® O [
Roller Lever
@ o @ O @ Adjusianie
@ @ @ @ ® et
P3.5-25 P3.5-40 P3.5-34. P3.5-47 P3.5-53 P3.5-31
7 (0.38) 10.8 (0.6) 9.9 (0.55) 18 (1) 18 (1) 6 (0.33)
3 5 5 5 5 3
Balanced Poppet Rubber Spool Metal Spool Rubber Spool Metal Spool Balanced Poppet
OTT 4(A)2(B) 2(B) 4(A) O 2(B) 4(A) 2(B) 4(A) O oUT.
NO NG S{R11(P) 3(R2) 3(EB)1(P)S(EA) 3(EB)1(P)S(EA) 3(EB)1(P)S(EA) tox Ab

QD Dual pressure available only on external
pilot.
3.5-2



Series VM

Related Products

Effective Area| |No.of Function
(mm?) (Cv) | (Ports
Shuttle Valve 7 1VR1210 7(0.38) [1 3 ]
IN N
Dimensions (mm) ‘
VR1210: 17.2 X 38 X 29
VR1220: 21.2 X 50 X 38 VR1220 15(0.81) || 3 out
[ I
Time Delay Valve VR2110 25(0.14) [ 3 Mz s gt
Pimensions (mm) 70 X 68 X 66 I i ) i
Pneumatic Indicator
Pimensions (mm) 226 X 66 VR 3 100 B B Q
Miniature Pneumatic Indicator ~
Dimensions (mm) g12 X 17 VR3 1 10 B B
[
Pneumatic-Electric Relay [1 |\/R 3200 0T i
Dimensions (mm) - —
VR3200: 17X 49 X 71
VR3201: 25 X 86 X 89 VR3201
[ I
Relay Valve 7 1IVR4151 N A=
Dimensions (mm) 7 (0.38) 5 | Metal Spool
Side piping: 30 X 53 X 91 B2
Bottom piping: 30 X 48 X 91 VR4152 Bm
[ I
Mechanical valve oo Page- - Related ProducCtsS  ««eeerreerrreeerrmiiiiiiieeeenaaa, Page: -
SeriesS VIMLO00 e ceererutitniiiiiitiitiiiiiiai it eas RP.3.5-7---- Relay Valve - v P.3.5-59..
L= 1= VA1 10 TR R3.5-11.--- Shuttle Valve «cccoeeesiiieaaiiiiiiiiiiiiiiiiiiiiiiiiiiiaiaacaacsiiiiaianass P.3.:5-62-
SErES VIVI200 <« +cruvmretntmntaniumiiutiiiisataniatisastasiaanantisasasstansaassny R3.5-19-.. Time Delay Valve - ccccovvrev P.3.5-61
SereS VIMADQ < crerrtriitiiiiiiiiiiiiieiiiiiiiiiiiiieienieiiiiitiensnisna| PR3.5-25... Pneumatic-Electric Re|ay ............................................. R.3.5-63
S (= o V774 Y =10 10 P:3.5-40--- Pneumatic INndicator ««««+++eeerrrrrmmniiiiiiiiiii i P.3:5-64
SEMHES VZIMADD -+ -+ vveemeneeeeneaet et et et e e e e P.3.5-34---
LY = e VA Y 1010 PP P:3.5-47.--
SerieS VEM200 -+ revreerrerrnsrniiiiiiii R.3:5-53--
SEMHES VIMBO0D -+ v vrerrenenenettet ettt tet et a et e e e e e e e e e eaaans R.3.5-31---

3.5-3



Series VM

/\ Precautions

" T T o mm mm mm Em Em Em RN BN EE EE EE EE EE EE BN RN N RN R EE EE EE Em EN BN BN N SE SE Em Em EE BN BN B N RN Em Em Em Em Em Em B o

1 Be sure to read before handling. Refer to p.0-33 to 0-36 for Safety Instructions and common precautions. _:

| Mounting || Definition of Symbols |
/\ Warning ' |

(MConditions for mechanical operation

Do not move the mechanical operation beyond the operating limit
position, as this could damage the mechanical valve itself and
lead to equipment malfunction.

e Actuator Stroke

Operate the mechanism within the stroke range that has been
obtained through the formula given below. (Do not move beyond the
operating limit position.)

Operating stroke: P.T. + 0.5 X O.T.

Series Actuator Actua(tr?]:ns)troke
Basic T.T.=4.8mm 3.7t04.7
(T.T.=2.5mm) (2.2t0 2.4)
VM1000 Roller lever 35t04.4
One way roller lever 3.5t04.4
Basic 221029 FP.  (Free Position) ««-«we-eeeeeee No external force applied.
Roller lever 4.3105.3 O.P. (Operating Position) -« Internal valve opening position.
One way roller lever 4.3t05.3 T.T.P. (Total Travel Position) - Includes over travel.
VM100 Straight plunger 2.7t03.4 O.F. (Operating Force) -« Operating force required to initial
Roller plunger 2.7t03.4 valve opening position.
Cross roller plunger 2.7t03.4 F.O.F. (Full Operating Force) ....Required force to total travel position.
Basic 4.0t04.9 P.T. (Pre-Travel).......cccccevinne From free position to initial valve oper-
Roller lever 8.7 to 10.7 ating position.
One way roller lever 9.5t011.7 O.T. (Over Travel).......c........... From initial valve operating position to
VM200 - .
Straight plunger 451t05.4 total travel position.
Roller plunger 4.51t05.4 T.T (Total Travel).......ccceenne. From free position to total travel posi-
Cross roller plunger 45t05.4 tion.
Basic 25t03.4
Roller lever 6.2108.2
One way roller lever 6.51t0 8.7
VRO Straight plunger 45t05.4
Roller plunger 45t054
Cross roller plunger 45t05.4
Basic 2.0t02.9
ximigg Roller lever 4.2106.0 . .
VEERD One way roller lever 471067 Air Flow Calculation
VFM200 Straight plunger 251034 Refer to the p.0-36 for air flow calculations.
Roller plunger 251t03.4
Q=2225/PiPr—P) /=222 e (1 formula)
0+ 273
For straight and roller plunger styles, there is a groove indicating P.T. Cautions

and T.T. for stroke adjustment. - — - -
This product cannot be used for applications in which the pressure

must be sealed because there will be a slight leakage. Consult SMC

for this type of application.
TT

PT

Al

3.54

SOA
VOA

SUA
VOA

VMIVR

VH



How To Order

VM1000

VM1 |00 04N

00 R

Number of ports

0 3 ports
1 2 ports
Construction

|
Actuator
Applicable tube (Meterial/Size) 00 Basic
AN | Nylon g4/2.5 (T0425) 01 Roller lever
Nylon g4/3 (T0403) 02 | One way roller lever
4NU|Soft Nylon g4/2.5 (TS0425) 08 Toggle lever
Polyurethane @/2.5 (TU0425) 32 Push button
Total travel/Basic (T.T.)
0 4.8mm
1 | 2.5mm (Option)” Q [Basic only.
Piping
"0 ] Side
1 | Bottom

Color of push button

R Red

G Green

B Black —
SOA
VOA
SOA
VOA
VMIVR
VH

Side Piping/ Non-actuated
3 port only

Bottom Piping
3 port only €))

Side Piping/ Actuated

Force

Bottom Piping/ Actuated

Force

O

A P

Component Parts
No. Description Material Notes No. Description Material Notes

@ | Body PBT ® | Spring Stainless steel

@ | valve rod Polyacetal @ | Plunger Polyacetal T.7.=2.5mm only, w/threads
3 | valve NBR Lever Stainless steel

@ | Retainer Polyacetal ® | Packing NBR

® | Spring Stainless steel O ring NBR

3.5-8



VM1000

Series VM1000/Side Piping

Basic/ VM1000-4N-00, VM1000-4NU-00 IS Synboli2 port 3 port
VM1100-4N-00, VM1100-4NU-00 T3
MITD Myl LD
- ® @
28 20 [J0.5MPa supply
= 35 4.5 =
o gt = Y 71 'EI'S = Applicable tube
@ ';'"némg; R e -t T0425  [TU0425, TO403, TS0425
c 100 = o 2] .
P 2 |8 5 @ !l Side |3 ports | VM1000-4N-00 | VM1000-4NU-00
= ) 222 [\2ess  [[]] piping |2 ports | VM1100-4N-00 | VM1100-4NU-00
Applicable tube 362Z 8 hMOOIg”“”Q ik F.O.F. u] 6N
P.T. 2.5mm[2mm]
O.T. 2.3mm[0.5mm]
[ I TT=2.5mm TT. 4.8mm[2.5mm]
Roller Lever/ vM1000-4N-01, VM1000-4NU-01 JIs Symbollz port 3 port
VM1100-4N-01, VM1100-4NU-01 j_ \
Hil=iE)i=
Polyacetal @10 1 13
38.2 N 5 L] (P)(R)
2.4, (19.1) '&1’5 ',Z| 1J0.5MPa supply
= Applicable tube
- i fg T0425  |TU0425, T0403, TS0425
N -t 3 o DL | Side |3 ports | VM1000-4N-01 | VM1000-4NU-01
e g H"n“ﬁﬁ‘?’é :4' =z | piping | 2 ports | VM1100-4N-01 | VM1100-4NU-01
O Applicable tube 27.8 2-933 1 F.O.F. u 6N
“ 36.1 Mounting
hole P.T. 2.5mm
O.T. 2mm
T.T. 4.5mm
One Way Roller Lever/ vM1000-4N-02, VM1000-4NU-02 JIs SyAmboIIZ port 3 p(Ao)rt
VM1100-4N-02, VM1100-4NU-02 i 7
Polyacetalg o /\/\ T D /\/\ T A_ )
((1‘:305)) (=[] 2 )R
s l/ F’ng 5 00.5MPa supply
= Applicable tube
- o T0425  |TU0425, T0403, TS0425
- R o = Side |3 ports | VM1000-4N-02 | VM1000-4NU-02
@\‘ I}Iw-—:ﬁ“"’ e]; piping | 2 ports | VM1100-4N-02 | VM1100-4NU-02
Ll . et F.O0.F.U 6N
“ o Applicable tube 362173 2-933 Lﬂ—l P.T. 2.5mm
o ' hare"9 o.T. 2mm
T.T. 4.5mm
Toggle Lever/ vM1000-4N-08, VM1000-4NU-08 Panel mounted hole ~ JIS Symbol/2 port 3 port

VM1100-4N-08, VM1100-4NU-08 a2 ® ®
| i o |
J’ e waa i 3\ I
%\3( ) o MI21 MAX.5 (;) (n‘:) (?{)
Y W & Lock nut
iy = q 5 2mm thick, 00.5MPa supply
- - T &3 mﬁm Applicable tube
i of s At it 2mm thick. T0425  [TU0425, T0403, TS0425
{ s s ol Side |3 ports | VM1000-4N-08 | VM1000-4NU-08
I”,-ﬁh‘; , 3 222 piping |2 ports | VM1100-4N-08 | VM1100-4NU-08
ﬂ @ Applicable tube (38.33) FOF. ] 4N
i P.T. 40°
Push Button/ vM1000-4N-32, VM1000-4NU-32 Panel mounted hole ~ JIS Symbol/2 port 3 port
VM1100-4N-32, VM1100-4NU-32 @
= e O, “GIT0 M{IE
s 217.7 MAXS i Y
sL i | (P)(R)
| .- i j [J0.5MPa supply
‘ s Applicable tube
— L T0425 _ [TU0425, TO403, TS0425
,ﬁ Soaatt L) Side |3 pors | VM1000-4N-32 | VML000-4NU-32
@. | m -t ;‘f s T piping | 2 ports | VM1100-4N-32 | VM1100-4NU-32
,... 278 Mi2 X1 F.o.F.0 6N
“ H™ Applicable tube €36) \é%crﬁ ?t:tck
@14 T4mm AF. P.T. 2.5mm
R O.T. 2mm
T.T. 4.5mm

3.5-9




Series VM1000/Bottom Piping

VM1000

VM1110-4N-08, VM1110-4NU-08

TT.
183

40°

qf?
% o]

®
2
L 3

3 o

(A

=\

L T T
1
- »» MAX.5 ) (;')(EU
el
— < 00.5MPa supply
{ ) e o RIE " Applicable tube
(& waﬁyﬁ QT T0425  [1uo425, To403, TS0425
4 @ - Bottom | 3 ports | VM1010-4N-08 | VM1010-4NU-08
' Applicable tube piping | 2 ports | VM1110-4N-08 | VM1110-4NU-08
' F.O.FH aN
T.T. 40°
Push Button/ vM1010-4N-32, VM1010-4NU-32 Panel mounted hole  JIS Symbol/2 port 3 port

VM1110-4N-32, VM1110-4NU-32 R 'y : 9
024 NN T :D M TY /—r :D
,_:r_;,_:‘ 2177 i p
:ﬁhﬁ% - MAX.5 ®) A @
. o s . ! 00.5MPa supply
Pl = = Applicable tube
[ HE.»"% Wu i % / TO425  |TU0425, T0403, TS0425
\ L] 3}7%*’\ Tgs Il Bottom |3 ports | VM1010-4N-32 | VM1010-4NU-32
I e % B s piping |2 ports | VM1110-4N-32 | VM1110-4NU-32
O
H
' w%mhag M12X1 D F.O.F. 6N
% S ek 18 P.T. 2.5mm
334 1Tmmm AI\CF O.T. 2mm
TT. 4.5mm

3.5-10

Basic/ VM1010-4N-00, VM1010-4NU-00 JIS S({)mbo'/z port 3 port
VM1110-4N-00, VM1110-4NU-00 T &
MDD Ml b
1 1%
. 2820 ® FE5MPa supply
- 185 .
" Y H W_E]O"E‘ Applicable tube
@ | gt _jo) T+t
C H»::-; % = o 5 - i T0425 TU0425, T0403, TS0425
‘. ") = T @ Botiom | 3 ports | VM1010-4N-00| VM1010-4NU-00 | o
) & 1 T [h2ess piping | 2 ports | VM1110-4N-00 | VM1110-4NU-00
' t sopicable tuoe | 1 [130| | hae F.O.F.J 6N 7
%2 P.T. 2.5mm VOA
O.T. 2.3mm[0.5mm]
[ 1 TT.=2.5mm T.T. 4.8mm[2.5mm]
Roller Lever/ vM1010-4N-01, VM1010-4NU-01 JIS Symbol/2 port 3 port SOA
A)
VM1110-4N-01, VM1110-4NU-01 ‘J‘z‘_) iy
M > MU AD v
Tyl /T
Polyacetal@10 T 1Y VDA
(29.9) ) (P} (R}
28 (o) / ._;r-;|._;| J0.5MPa supply
o L ==5 Applicable tube
~ f {} ! T0425 TU0425, T0403, TS0425
J jaie--! < 3 3
%\UH":@ g Bottom |3 ports | VM1010-4N-01 | VM1010-4NU-01 VMR
¢ @ piping |2 ports | VM1110-4N-01 | VMI110-4NU01
F.O.F.0 6N VH
‘ ‘ Applicable tube 122 123.9 ’\2/"0%?1&9 P.T. 2.5mm
278 hole O.T. 2mm
T.T. 4.5mm
One Way Roller Lever/ vM1010-4N-02, VM1010-4NU-02 JIS Symbol/2 port 3 port
VM1110-4N-02, VM1110-4NU-02 T
Polyacetal @10 /\/\ T D /\/\ Ty /T D
(31.7) 5 1 13
4 28] (185) / »—;J'—Z»—;‘ P P) (R)
g “Llo"' [J0.5MPa supply
e ' Applicable tube
**‘L' ot & T0425  |TU0425 T0403, TS0425
@ ‘f-,;;e‘:c:j_,m, o F 2 Bottom 3 ports | VM1010-4N-02 | VM1010-4NU-02
L] ’; e piping |2 ports | VM1110-4N-02 | VM1110-4NU-02
F.0.F.0 6N
‘ I Applicable tube gla I\ZA-oGu?\'tisng PT. 2.5mm
278 hole O.T. 2mm
T.T. 4.5mm
Toggle Lever/ vM1010-4N-08, VM1010-4NU-08 Panel mounted hole  JIS Symbol/2 port 3 port



2/3 Port Mechanical Valve

Series VM100

Compact size.

Porting options: Side porting
Bottom porting

A variety of actuator styles.

3.5-11

Specifications

Piping

Side piping

Bottom piping

Fluid

Air

Operating pressure

—100kPa to 1.0MPa

Ambient and fluid temperature

-5 to 60°C (No freezing)

Effective area (Cv)

2.5mm? (0.14)

Recommended lubricant

Not required/Turbine oil #1 (ISO VG32)

Port size (Nominal size) Rc(PT) Vs (6A) M5 X 0.8
Weight (Basic) 95¢g 1109
Model
Side piping Bottom piping -
2 port 3 port 2 port 3 port Part No. | Application
Basic VM120-01-00 | VM130-01-00 | VM122-M5-00 | VM132-M5-00 _
VM121-01-00 | VM131-01-00 | VM123-M5-00 | VM133-M5-00
é Roller lever VM121-01-01 | VM130-01-01 | VM123-M5-01| VM133-M5-01 - Polyacetal roller
© VM121-01-01S | VM131-01-01S | VM123-M5-01S | VM133-M5-01S - Hard steel roller
qé- One way VM121-01-02 | VM131-01-02 | VM123-M5-02| VM133-M5-02 - Polyacetal roller
< |rollerlever | vyM121-01-02S | VM131-01-02S | VM123-M5-02S | VM133-M5-02S - Hard steel roller
€ [ Straight plunger | VM120-01-05 | VM130-01-05 | VM122-M5-05] VM132-M5-05| VM-05B -
_(cs Roller plunger VM120-01-06 | VM130-01-06 | VM122-M5-06| VM132-M5-06| VM-06B | Polyacetal roller
% VM120-01-06S | VM130-01-06S | VM122-M5-06S | VM132-M5-06S | VM-06BS | Hard steel roller
Cross roller | vM120-01-07 | VM130-01-07 | VM122-M5-07| VM132-M5-07| VM-07B Polyacetal roller
plunger VM120-01-07S | VM130-01-07S | VM122-M5-07S | VM132-M5-07S | VM-07BS | Hard steel roller
Toggle lever | VM120-01-08 | VM130-01-08 | VM122-M5-08| VM132-M5-08| VM-08B
VM120-01-30R | VM130-01-30R | VM122-M5-30R | VM132-M5-30R| VM-30AR Red
Push button | VM120-01-30B | VM130-01-30B | VM122-M5-30B | VM132-M5-30B | VM-30AB Black
(Mushroom) | VM120-01-30G | VM130-01-30G | VM122-M5-30G| VM132-M5-30G| VM-30AG Green
VM120-01-30Y | VM130-01-30Y | VM122-M5-30Y | VM132-M5-30Y | VM-30AY Yellow
VM120-01-32R | VM130-01-32R | VM122-M5-32R | VM132-M5-32R | VM-32AR Red
Push button | VM120-01-32B | VM130-01-32B | VM122-M5-32B | VM132-M5-32B | VM-32AB Black
- (Extended) | VM120-01-32G | VM130-01-32G | VM122-M5-32G| VM132-M5-32G| VM-32AG Green
-% VM120-01-32Y | VM130-01-32Y | VM122-M5-32Y | VM132-M5-32Y | VM-32AY Yellow
’% Push button (Fush) | VM120-01-33 | VM130-01-33 | VM122-M5-33| VM132-M5-33| VM-33A ng;}E,gf:;n?fyfg,%W
T VM120-01-34R | VM130-01-34R | VM122-M5-34R| VM132-M5-34R| VM-34AR Red
% Twist selector | VM120-01-34B | VM130-01-34B | VM122-M5-34B | VM132-M5-34B | VM-34AB Black
= | (2position) | yM120-01-34G | VM130-01-34G | VM122-M5-34G| VM132-M5-34G| VM-34AG Green
VM120-01-34Y | VM130-01-34Y | VM122-M5-34Y | VM132-M5-34Y | VM-34AY Yellow
Key selector (2 position) | VM120-01-36 | VM130-01-36 | VM122-M5-36| VM132-M5-36| VM-36A
VM131-01-35R | VM151-01-35R | VM133-M5-35R | VM153-M5-35R - Red
Twist selector VM131-01-35B | VM151-01-35B | VM133-M5-35B | VM153-M5-35B - Black
(3 position) | YM131-01-35G | VM151-01-35G | VM133-M5-35G| VMI53M5-356]  — Green
VM131-01-35Y | VM151-01-35Y | VM133-M5-35Y | VM153-M5-35Y - Yellow
(3 port) (5 port) (3 port) (5 port)

and 3 position selector.

Q Note) Actuator replacement is available for all styles except for roller lever, one way roller lever,



How To Order

VM100

VM1 |31

01

01

S

| Indicator
Suffix of actuator . W/ miniature indicator
_ * Aactuator S | Hard steel roller (Bottom piping only.)
Port size 00 Basic R |Red
01| Re(PT)Ys 01 Roller lever B _[Black| Color of push
MS5 M5 X 0.8 (Female thread) 02 | One way roller lever G |Green| button
05 Straight plunger Y |vello
Piping direction and plunger length 06 Roller plunger
0 P Lgong piung g 07 Cross rollzr pl?mger Possible combination: O, Impossible combination: X
1 IShort Side 08 Toggle lever Plunger length | Side |Bottom
2 |Long Bott 30 |Push button (Mushroom) Long|ShortlLong|Short
3 [Short| ~otem 32 |Push button (Extended) Actuator 0|1/0/1
33 | Push button (Flash) Basic 0010101010
Number of ports 34 | Twist selector (2 position) Roller lever 01 | X]OIX]O
2 2 ports 36 | Key selector (2 position) One way roller lever | 02 | X |O | X | O
g 3 ports 35 | Twist selector (3 position) Straight plunger 05 |O|X]O| X
Roller plunger 06 | O X|O|X
Cross roller plunger | 07 |O| X |O| X
Toggle lever 08 | O|X|O| X
Push button (Mushroom)| 30 [ O | X | O | X
Push button (Extended)| 32 | O | X | O | X
Push button (Flush) |33 |O| X |O| X
Twist selector (2 position) | 34 | O | X | O | X
Key selector (2 position)| 36 | O | X | O | X
Construction Twist selector (3 position) | 35 | X | O | X | O
Side piping Bt Bottom piping R port
0 3 port only
©® ®
Non-actuated Non-
actuated
Force
Actuated {} Actuated
is
- - ()
Component Parts A P
No. Description Material Notes No. Description Material Notes
(1 | Body Zinc alloy Metallic plated ® | Gasket NBR
@ | Plunger Polyacetal @ | Cover Rolled steel
(® | Valve seat Polyacetal Subplate Zinc alloy Metallic plated
@ | valve NBR (9 | Hexagon socket head plug Rolled steel
(® | Spring Stainless steel ‘

3.5-12

SOA
VOA

SUA
VOA

VMIVR

VH



VM100

Series VM100/Side Piping

Basic/ vM120-01-00, VM130-01-00 JIS Symbol 21(A) :
VM121-01-00, VM131-01-00 2 port
2-M3X05 N T )
Actuator mount holes 1(P)
—¢ 2(A
5 3 port (A)
7
R port a4 i N\ T3y /fl' D
(3 port only) _Tr oloH 1(P)3(R)
f<
a3 ﬁr‘—ﬁ Model L A 00.5MPa supply
gI TR s 2neme VM120-01-00 |4, ] 75 F.0.F.J 20N
Ax & - P VM130-01-00 ’ ’ P.T. 1.5mm
El SR VM121-01-00 |0 c| 55 OT. 1.5mm
2-4.6 Mounting hole VM131-01-00 . . TT. 3mm
Roller Lever/ vm121-01-01, VM131-01-01 JIS Symbol J2_(A)
VM121-01-01S, VM131-01-01S 2 port
MI|IP
210 1(P)
Polyacetal or hard steel roller
= O
R port M\ / D)
> @ port o) Tyl /T
. @ g 1P)3R)
oy
//:WJ © &T = = ﬁ[ [J0.5MPa supply
o &= == =i FOFD 10N
2-Rc(PT)%,/ P.T. 3.2mm
2-4.6 Mounting hole O.T. 2.3mm
T.T. 5.5mm
One Way Roller Lever/ vM121-01-02, VM131-01-02 JIS Symbol ZJ(_A)
VM121-01-02S, VM131-01-02S 2 port /M T
210 1P
Polyacetal or hard steel roller
8 2(A)
3 port
: M| A
£ o5 1P) 3R
B (3 port only) (P)3(R)
& &
= E . J0.5MPa supply
i] F.0.F.H 10N
2RPTIVG ] P.T. 3.2mm
O.T. 2.3mm
2-4.6 Mounting hole 1T 5.5mm
Panel motg]ted hole  JIS Symbol 2J(_A) .
b 2 port
2-M14 X1 ®\/ P A% T D)
= S 1)
A MAXS oort 2(A)
“z® T3 /T [
E R port 1(P)3(R
= Y o (3 port only) (Dz).S(M)Pa supply
& o
>-é X s F.o.F.U 23N
245;,4 2 P.T. 2mm
O.T. 1.5mm
2Ro{PT)V% : -
2 2-4.6 Mounting hole T 3.5mm
Roller Plunger/ vM120-01-06, VM130-01-06 Panel mounted hole ~ JIS Symbol  2(a)
VM120-01-06S, VM130-01-06S B2 2 port M L A
2-M14X1 T
210 Lock nut =
Polyacetal or Smm thick, 1(P)
hard steel roller 4|17mm AF.
i MAX6 3 port 2(A)
M| A
1(P)3(R)
R port
[l A @ port only) 0J0.5MPa supply
hdE F.O.F.0 23N
B P.T. 2mm
) O.T. 1.5mm
2-4.6 Mounting hole TT. 3.5mm

3.5-13




Series VM100/Side Piping

VM100

3.5-14

Cross Roller Plunger/ vm120-01-07, VM130-01-07 Panel mounted hole  JIS Symbol  p(a)
210
VM120-01-07S, VM130-01-07S  gr—ati™ e 2 port AN I 7% D)
hard steel roller o MI4X 1 @/ T
s -
thick,
¥ i 7mm AF Maxs 3 Port 2(A)
Q0
=il M AD
4 1(P) 3(R)
= :’ J0.5MPa supply SUA
] ]
O F.O.F. 23N
254 o) P.T. 2mm VDA
44 ! 0.T. 1.5mm
2-4.6 Mounting hole T.T. 3.5mm
Toggle Lever/ vM120-01-08, VM130-01-08 Panel mounted hole  JIS Symbol SOA
) 2 port 2(A
Ak port 4 TT&
= o5 2MIAX1 ®/ I
Lock nut
ON ‘ ' OFF H ?%cm ?ficé 5 VOA
N / R mmAF MAX6 3 port
of_ |9 2(A)
7
<
. ] )R port Tyl /T VMIVR
R > o gy (S portonly) 1(P)3(R) —_
T | « o5
L] i[ RS ki VH
b1z ] 24 | \|o 00.5MP
44 o . a supply | —
2-Re(PT)V% 2-4.6 Mounting hole F.O.F.D 10N
T.T. 60°
Push Button (Mushroom)/ VvM120-01-30R, B, G, Y/VM130-01-30R, B, G, Y Panel mounted hole  JIS Symbol  o(ay
o 2 port L
e MIITD
%’ — i ' 1P)
3 port 2(A)
| 2 we Mgy LD
] 1(P)3(R)
e 0 00.5MP |
(3 port only) A .5MPa supply
° &
= o g B FO.F.U 21N
m vmi2 17 254 o T P.T. 4.9mm
44 L)
X o ? L 2Re(PT) 2% 2-4.6 Mounting hole O.T. 1.6mm
N T.T. 6.5mm
Push Button (Extended)/ vM120-01-32R, B, G, Y/VM130-01-32R, B, G, Y Panel mounted hole  JIS Symbol 54y
38 2 port L1}
L S oEE T
T o T |
Gy c====e) ‘ 3 port 2(8)
%l [E:J [ - | mT§ g I : I MAX.6 /M - /T :D
R port + S ; 1(P)3(R)
[ O {3 port only) %DL 5 )>_| <"\]$ €3L — 00.5MPa supply
. | | 2] o L= F.o.F.J 21N
8 e L 17 ] 254 [\[g P.T. 4.9mm
g o ° o 44 G )
%‘ 2-Rc(PT)le 2-4,6 Mounting hole O.T. 1.6mm
T.T. 6.5mm
Push Button (Flush)/ vM120-01-33, vM130-01-33 Panel mounted hole  JIS Symbol  p(a)
2 port T 134
938 P /\/\ j)
223 HH H T
P - sl & P)
=EE <
— 2o 3 port 2(A)
' o] :D
‘ ﬁ E E MAX.6 /\/\ TY T
R port =) 1(P)3(R)
{3 port only) {\ % i mg JﬁsﬁL
|| = _@_é & & _i & 00.5MPa supply
YA 264 | \|o] F.0.F.H 21N
2-Rc(PT)Y% 44 N . P.T. 4.9mm
2RolPT)76\ 4, g
2-4.6 Mounting hole oT L.6mm
T.T. 6.5mm



VM100

Series VM100/Side Piping

Twist Selector (2 position)/ VM120-01-34R, B, G, Y/VM130-01-34R, B, G, Y

Panel mounted hole

oN
o | %WO & JIS Symbol
il \’Q JJ ~ 2 port
== 2(A)
OFF__ 39 MAX.6 | IT13 3\
T
1(P)
3 port
2(A)
i
LR
~ 1(P)3(R)
82
R ' 3 JaL
_Rport [T T &
{3 port only) C\ - IS g {A =
L NS OO ki
17 245:4 o 00.5MPa supply
2Ro(PT)A 2-4.6 Mounting hole F.0.F.U 15N
T.T. 90°
Key Selector (2 position)/ vM120-01-36, VM130-01-36 Panel mounted hole
ON
| [ L| = & JIS Symbol
=l d ‘ 2 port
B 1 OFF 30 MAX.6 | ZJ(_A) 7Y
- 238 T
j 1(P)
§ = 3 port
2(A
& oiey & l (" 3\
1 ¢ t Sl
g L ' “|le 1(P) 3(R)
5’% S
por . L = 2y
_ N 2
B portonly) [{] = I
g > & U o
AV e 3
17 2?44 9 0J0.5MPa supply
) - 2-Re(PT)l% 2-4,6 Mounting hole F.0.FH 15N
Key can be removed in “on” and “off” positions.
T.T. 90°
Twist Selector (3 position)/ VM131-01-35R, B, G, Y/VM151-01-35R, B, G, Y Panel mounted hole
P4
Pyt
e \\ .
w 3%\] & JIS Symbol
© “jﬁ///J 2 port
E = e 2(A) 2(A)
: | 1L Ll ly a\
38 L
a
5245 1(P)
T 3 port
i
| 2(A) 2(A)
3 |
R VAN /;i
0 NV
= 3(R)1(P) 3(R)
2 P
3 S 7
A
2| wpo
o) 0
R port 44 1
{5 port only) 3Ro(PT) 14 00.5MPa supply
F.o.F.U 15N
T.T. 45°

3.5-15




Series VM100/Bottom Piping

VM100

Basic/ VM122-M5-00, VM132-M5-00 JIS Symbol  2(A)
VM123-M5-00, VM133-M5-00 2 port M L L —
2M3x05 T —
Actuator mount hOIesFF——ﬁ 1)
i 27 ] 2-M5 X0.8 3 port 2(A)
R port 04 ] 4mm depth |
(3 port only) I & '5 ';:l 40 /\/\ T |
< =
| F ) 1(P)3(R) SOA
dol )« Model L A 00.5MPa supply | L——
™
o 14 VM122-M5-00 F.0.F.H 20N
Alae vM132-Ms-00 | 37| 75 P ismm | VOA
2-4.6 Mounting hole, 44 VM123-M5-00 335/ 3.5 O.T. 1.5mm
VM133-M5-00 ’ ’ T.T. 3mm
Roller Lever/ vmM123-M5-01, VM133-M5-01 JIS Symbol 2(8) SOA
VM123-M5-01S, VM133-M5-01S 2 port T ‘
T VOA
310
455 Polyacetal or hard steel roller 1(P)
paf= 2 — 8 3 port 2(A)
- R port
/ﬁ; (3 port only) T4 :)
— L . §
& & - | 0J0.5MPa supply | —————
- ol o — F.O.F.0 10N VH
51-45 . [ 294 P.T 3.2mm
lountin i -
hole u %@ O.T. 2.3mm
T.T. 5.5mm
One Way Roller Lever/ vM123-M5-02, VM133-M5-02 JIS Symbol  2(A)
VM123-M5-02S, VM133-M5-02S 2 port A
465 A M T -
] 2§ Polyacetal or hrd steel roller 1(P)
o -
7 3 port 2(A)
= M 13 /
| RN 1(P)3(R)
O - & o )< 2-M5 X038 00.5MPa suppl
| \ﬁ & ] 4mm depth |‘J'8—] PPy
o v & ' e i F.OF.0 10N
B 246 284 il y% S
i "“Mounting 44 P.T. 3.2mm
hole O.T. 2.3mm
T.T. 5.5mm
Straight Plunger/ vM122-M5-05, VM132-M5-05 Panel mounted hole  JIS Symbol o)
5 2 port Y
2-M14 X1 AR
Igock n#tk ®/ 4% T )
PR mm thick, 1(P
== Q’IS 17mm AF. ()
: R port MAx6 3 port 2(A)
(3 port only)
©)| Q\
N MY T A’ —
g 1P)3(R)
ﬁ—jq o J0.5MPa supply
T “’ 2-M5 X058 18 F.Oo.F.U 23N
2-46 o84 4mm depth P.T. 2mm
eal_
hcﬁgntmg 44 o O.T. 1.5mm
T.T. 3.5mm
Roller Plunger/ vM122-M5-06, VM132-M5-06 Panel mounted hole ~ JIS Symbol 20
VM122-M5-06S, VM132-M5-06S K3 2 port T T%
210 2M14x1 > N T )
! 1] Polyacetal or Tock U
ol &l H hard steel roller 5mm thick, 1(P)
17mm A F. MAX 6 3 port 2(A
1 M| P
& 1(P)3(R)
R port 2-M5 X0.8 18 J0.5MPa supply
(3 port only) 4mm depth F.o.F.U 23N
2-46 B4 0L P.T. 2mm
Mounting 44 O.T. 1.5mm
hole
T.T. 3.5mm

3.5-16




VM100

Series VM100/Bottom Piping

Cross Roller Plunger/ vM122-M5-07, VM132-M5-07

Panel mounted hole JIS Symbol 2(A)
-M5- -M5- 2 port T [ &
VM122-M5-07S, VM132-M5-07S 10 B2 p AN D
o Polyacetal or 2M14 X1 T
g5 E _ri hard steel roller Lock nut 1(P)
B Smm thick,
il 17mmAF. MAX6 3 port 2(A)
R port
N (3 port only) M TY
8 1(P3R)
J0.5MPa supply
2:M5 X0.8 18
4mm depth F.0.F.H 23N
(A7 | 246 V% P.T. 2mm
Mountlng O.T. 1.5mm
ot TT. 3.5mm
Toggle Lever/ vm122-M5-08, VM132-M5-08 Panel mounted hole  JIS Symbol
2 port 2(A)
@5 2Mi4 X1 L1k
Lo T
ok i)
MAX. 3 port
2(A
9 (2 A )
i port only,
& Lad TY A’
1(P)3(R)
2-M5 X 08
4mm depth
00.5MPa supply
F.OF.U 10N
P.T. 60°
Push Button (Mushroom)/ vM122-M5-30R, B, G, Y/VM132-M5-30R, B, G, Y Panel mounedthole ~ JIS Symbol Q(A)
240 === 2 port T Y
. L ol o|-
e T
:{ - |g MAX.6
= NP T"
=~ 2-M5 X08
T 5 “TRpot_Zmmepth 1(P)3(R)
R g~ €} {3 portonly) J0.5MPa supply
= B - L= ] F.OF.U 21N
P U= P.T. 4.9mm
246 ;
Mounting” 44 L18 O.T. 1.6mm
hole T.T. 6.5mm
Push Button (Extended)/ VvM122-M5-32R, B, G, Y/VM132-M5-32R, B, G, Y Panel mounted hole  JIS Symbol Z(A)
@38
923 5 e 2 port
] B
! vk 2(A
— ERE ==\ 3 port ( )
L 715:'] ol < MAX.6
N o
[~
FT [ %] < R port 2M5 X 0.8 ( ) 3(R)
B @portonly)  4mm depih - 00.5MPa supply
AL =] F.O.F.D 2IN
254 C f\% P.T. 4.9mm
-4.6 SR = A
f/lguntlng 2 O.T. 1.6mm
hole T.T. 6.5mm
Push Button (Flush)/ vm122-M5-33, VM132-M5-33 Panel mounted hole  JIS Symbol o)
2 port
38 Ik
223 E g 'y: /\/\ T :D
e = (» )
©| i@@% |Hm‘ 3 port o(A
2 _[l.maxe M 14 /.r
=& R port
% (3 port only) 2.MB X 0.8 1(P)3(R)
4mm depth [J0.5MPa supply
e F.0.F.U 21N
-5 J P.T. 4.9mm
18 O.T. 1.6mm
T.T. 6.5mm




Series VM100/Bottom Piping

VM100

Twist Selector (2 position)/ VM122-M5-34R, B, G, Y/VM132-M5-34R, B, G, Y Panel mounted hole
OFF
o JIS Symbol
~ 2 port 2(A)
MAX.6 [
1(P)
038 ( SOA
@245 —
/)| 3 port 2A) VOA
00| &0 |
o 1(P) 3(R)
o -
= § 2-M5 X 0.8 G SDA
i N 4mm depth —
[} ]« - g Pl VOA
ﬂ O F T B ————
254 f? -
2-4,
hM%fmmg SR L _ 00.5MPa supply
ol F.O.F. 15N
T.T. 90° VMR
Key Selector (2 position)/  vM122-M5-36, VM132-M5-36 Panel mounted hole VH
gl s JIS Symbol
= \/ 2 port 2
- 39 ON MAX.6 l
Lv 1P)
3 port 2(A)
AR
R port
3 Sgn only) HP)3(R)
g i F
Y
& ]
246
Mounting 18 00.5MPa supply
o F.0.F.H 15N
Key can be removed in “on” and “off” positions. TT 90°
Twist Selector (3 position)/ VM133-M5-35R, B, G, Y/VM153-M5-35R, B, G, Y Panel mounted hole
% JIS Symbol
2 port
2(A)2(A)
MAX.6 I TTI1IL
T
1(P)
3 port
P 2(A)
|
SEL [N
! ‘ 3(R)1(P) 3(R)
3-M5X0.8
1 4mm depth
i
€§ R port o< E[
] - @ - (5 port only) ks
== o 00.5MPa supply
F.0.F.H 20N
TT. 45°

3.5-18




2/3 Port Mechanical Valve

Series VMZ200

Large flow capacity.

A variety of actuator styles.

3.5-19

Specifications
Fluid Air
Operating pressure 0 to 1.0MPa

Fluid temperature

-5 to 60°C (No freezing)

Effective area (Cv)

19mm?(1.0)

Recommended lubricant

No required/Turbine oil #1 (ISO VG32)

Port size (Nominal size)

Rc(PT) ¥4 (8A)

Weight (Basic) 1119
Model
No. of ports
pu— g 2 port 3 port g\;ﬁ?\ltglr Application
Basic VM220-02-00 VM230-02-00 — —
c VM220-02-01 VM230-02-01 VM-01A Polyacetal roller
S | Roller lever
= VM220-02-01S VM230-02-01S | VM-01AS Hard steel roller
g One way VM220-02-02 VM230-02-02 VM-02A Polyacetal roller
S | roller lever VM220-02-02S | VM230-02-02S | VM-02AS Hard steel roller
_g Straight plunger VM220-02-05 VM230-02-05 VM-05A -
g VM220-02-06 VM230-02-06 VM-06A Polyacetal roller
5 | Roller plunger
[ VM220-02-06S VM230-02-06S | VM-06AS Hard steel roller
= Cross roller plunger VM220-02-07 VM230-02-07 VM-07A Polyacetal roller
VM220-02-07S VM230-02-07S | VM-07AS Hard steel roller
Toggle lever VM220-02-08 VM230-02-08 VM-08A -
VM220-02-30R VM230-02-30R | VM-30AR Red
Push button VM220-02-30B VM230-02-30B | VM-30AB Black
(Mushroom) VM220-02-30G | VM230-02-30G | VM-30AG Green
VM220-02-30Y VM230-02-30Y | VM-30AY Yellow
VM220-02-32R VM230-02-32R | VM-32AR Red
Push button VM220-02-32B VM230-02-32B | VM-32AB Black
(Extended) VM220-02-32G | VM230-02-32G | VM-32AG Green
5 VM220-02-32Y VM230-02-32Y | VM-32AY Yellow
§ | Pushbution (Flush) | VM220-02:33 | VM230-02:33 | VM-33A nglctE, Z:aeén?f;;?c;w
% VM220-02-34R VM230-02-34R | VM-34AR Red
2 | Twist _S_elector VM220-02-34B VM230-02-34B | VM-34AB Black
g | (2 position) VM220-02-34G | VM230-02-34G | VM-34AG Green
VM220-02-34Y VM230-02-34Y | VM-34AY Yellow
Key selector (2 position) | VM220-02-36 VM230-02-36 VM-36A —
VM230-02-35R VM250-02-35R — Red
Twist Selector VM230-02-35B VM250-02-35B - Black
(3 position) VM230-02-35G | VM250-02-35G - Green
VM230-02-35Y VM250-02-35Y — Yellow
(3 port) (5 port) - -
Foot pedal VM220-02-40 VM230-02-40 - -

Q Note) Actuator replacement is available for all styles except twist selector (3 position) and foot pedal.



How To Order

VMZ200

VM2 |3]0-02-01||S

-————— Actuator

Suffix of actuator

. S | Hard steel roller
Port size 00 Basic R | Red
02 | Re(PT) Ya 01 Roller lever B _|Black | Color of push
Number of ports 02 One way roller lever G |Green|button
2 2 ports 05 Straight plunger Y [Yellow
3 3 ports 06 Roller plunger
07 Cross roller plunger
08 Toggle lever
30 |Push button (Mushroom)
32 |Push button (Extended)
33 | Push button (Flash)
34 | Twist selector (2 position)
36 | Key selector (2 position)
35 |Twist selector (3 position)
. 40 Foot pedal
Construction
Non-actuated Actuated
EXH. port Forca
(3 port only) O
ouT ouT|| 4m g’
=
@& | N
® " e [eh
Component Parts
No. Description Material Notes No. Description Material Notes
1 | Body Aluminum alloy Metallic plated @ | Cover Polyacetal
(@ | Plunger Polyacetal ® | Valve Brass, NBR
(3 | Plunger retainer PBT ® | Spring Steel wire

3.5-20

SOA
VOA

SUA
VOA

VMIVR

VH



VMZ200

Series VM200
Basic/ VM220-02-00, VM230-02-00 JIS Symbol
2 port 2(A)
T A
2-M3X 05 27 /N
Actuator mount holes . T
/Al 1(P)
s 3 port
2(A)
ML A
b P e EXH. port
° O"._ (3 port only) 1(P) 3(R)
A T 2 :
out
! BERE Tl 00.5MPa supply
< e e FOFY 52N
P i P.T. 3mm
25 30 . :
b moPTVa 40 2-5.5 Mounting hole oT. >mm
T.T. 5mm
Roller Lever/ vm220-02-01, VM230-02-01 JIS Symbol
VM220-02-01S, VM230-02-01S 2 port 2(A)
I y
=
217 1)
57 [ Polyacetal or hard steel roller
364 ey 3 port
8 245 &g 2(A)
EXH. port /
N (3 port only) N Tyl /T D
! N 1(P) 3(R)
ouT i ?é
& o | o
! | N
P ﬁ_( s o . J0.5MPa supply
=‘=125 = F.O.F. 24N
255 l—40 | h-Ro(PT)V4 P.T. 6.5mm
Mounting hole O.T. 4.5mm
T.T. 11mm
One Way Roller Lever/ vM220-02-02, VM230-02-02 JIS Symbol
VM220-02-02S, VM230-02-02S 2 port 2(A)
iR \
817 T
63 Polyacetal or hard steel roller 1(P)
g 354 N 3 port
_'I_T‘_ 245 ol 2(A)
.. <+
I - M| A
N’ . ) EXH. port
8 @\‘/<< %g IT1]7(3 port only) 1(P)3(R)
ouT E ‘ “ ]
{ b “ 8 [0.5MPa supply
Bk i - ps FOFD 22N
[=2‘5=' =TT - P.T. 7mm
2.55 40 2-Re(PT)V4 oT. 5mm
Mounting hole TT. 12mm
Straight Plunger/ vM220-02-05, VM230-02-05 Panel mounted hole  JIS Symbol ~ 2(A)
W 2 port LT4 D)
== T
_ g e oS 2
2-M20 X 1 ‘ MAX10 ”
Lock nut 6mm thick, .
Lock ur g e 3 port
[l
Qe 5 EXH. port /\/\T" /:_:)
3|~ (3 port only)
o E 1(P) 3(R)
8
Z ouT
I N N {J
o
ﬁ 1 <] - 1 §
25 30 . J0.5MPa supply
2-6.5
2-Re(PT)Va 40 Mounting hole FOFUO 56N
P.T. 3.5mm
O.T. 2mm
T.T. 5.5mm

3.5-21




VMZ200

Series VM200
Roller Plunger/ vM220-02-06, VM230-02-06 Panel mounted hole  JIS Symbol
VM220-02-06S, VM230-02-06S 2 port 2(A)
Y
@ /M
T
== @17 Polyacetal or hard steel roller /6@ 1(P)
"|6r“ “‘lo = 2 3 port
-M
* 1 Egckz%;:t :gmm thick, MAX10 2(A)
mm A.F —
&= St por My SOA
()|
— (3 port only) 1(P) 3(R)
= 3 —
- oy VOA
H‘\l e L7
Ve ) o 00.5MPa supply
e e F.O.F.0 56N
30
20 % P.T. 3.5mm SOA
2-Re(PTVa h2/1‘5-5 : 0.T. 2mm It
ounting hole ——
T.T. 5.5mm VOA
Cross Roller Plunger/ vM220-02-07, VM230-02-07 Panel mounted hole  JIS Symbol  ——
VM220-02-07S, VM230-02-07S 2 port ZiA)
& M| TD
z:zolyacetzl or hard steel roller (&® N ; t 1-(||;) VM/VR
= 2-M20 X 1 or
o ; Lock nut 6mm thick, MAX10 P 2(A)
'j 27mm A.F. VH
:[l ol EXH. port /\/\ T3 / D
)]
%% gg i (3 port only) 1(P) 3(R)
] ouT
N Qo) ~ [J0.5MPa supply
J = ° F.0.F.J 56N
‘ A €0 P.T. 3.5mm
2-Ro(PT)Va g Fole o.I Zmm
S 9 T.T. 5.5mm
Toggle Lever/ vM220-02-08, VM230-02-08 Panel mounted hole JIS Symbol
2 port 2(A)
o I LTk 3\
26 T.T T
I = 0% 1(P)
T ONmOFF ) v 3 port
N 2-M20 X 1 MAX10
N . 2(A)
\.\\\ / Lock nut 6mm thick, !
A : o 27mm A.F. I-E
N o8 EXH. port 1Ty
gzx% N E (3 port only) 1(PY5(R)
| <
N \ A\ }ﬁ o N\ J
25 L—%—I 0J0.5MPa supply
2-55 [}
2-Ro(PT)4 Mounting Fole F.O.F. 12N
T.T. 60°
Push Button (Mushroom)/ VvM220-02-30R, B, G, Y/VM230-02-30R, B, G, Y Panel mounted hole  JIS Symbol
2 port 2(A)
1 Y
040 == 5 :D
& J | e 3 port 1(P)
By 3 2(A)
A | £ N A
R —; TYl /T
" 178 |9 o) 1(P) 3(R)
Wy ‘ EXH. port : 28 oyt
! (3 port only) e /7
l& [ " o s A&
M2 Q“q - & [J0.5MPa supply
v A e = -
s 55 % F.O.F. 52N
I 2-Re(PT)Y4 0 265 P.T. 4.9mm
Mounting hole O.T. 1.6mm
T.T. 6.5mm

3.5-22



VMZ200

Series VM200

Push Button (Extended)/ VvM220-02-32R, B, G, Y/VM230-02-32R, B, G, Y

Panel mounted hole

&

238
23 AAERE
= ek waxe JIS Symbol
» B I 1 2 port
—lk ] 2(A)
— 3
, — s = METTED
Ext. por A , 1)
- - ouT
1 | 13 port only) <2 ﬂ?\ port 2(A)
‘ \ i J:N N /4
% o A e % 8 Myl /r mp
| © &
ﬁwg‘@_‘f{m) ‘ 25 %0 1(P) 3(R)
) (! 2-Re(PTY4 2-65
o @ | Mounting hole
.‘ 00.5MPa supply
F.0.F.U 52N
P.T. 4.9mm
O.T. 1.6mm
T.T. 6.5mm
Push Button (Flush)/ vm220-02-33, VM230-02-33 Panel mounted hole
238 e MAX6 JIS Symbol
023 L Lt . 2 port
- i p 2(A)
== Y
M D
= ! SH§ 1-{P)
- 3 port
EXH. port ’.'_‘g ouT 2(A)
‘ (3 port only) Nf{g a
; 87 TY /‘r
ol
%é{ i & i 1(P) 3(R)
2 22110
2-5.5
2-Ro(PT)4 Mounting hole
00.5MPa supply
F.0o.F.U 52N
P.T. 4.9mm
O.T. 1.6mm
T.T. 6.5mm
Twist Selector (2 position)/ VM220-02-34R, B, G, Y/VM230-02-34R, B, G, Y Panel mounted hole
oN &
=N
o W . ‘
RGN MAX.6
“ s ] .
oFfF”|.__39
038 JIS Symbol
0245 2 port 2(A)
N
I il ol MV T
2 F,N 1(P)
'E? NS 3 port
| ; ‘ — HE ouT | 2(A)
! JREXH.port [ |
A (8 port only) T I Teu m KA Ty /_‘.I_ 3\
ml IS \f o
I3 2 gj k& 1(P) 3(R)
2 :‘51?) - 00.5MPa supply
. 2-55 o
2-Ro(PT)4 Mounting hole F.O.F. 32N
T.T. 90°

3.5-23




VMZ200

Series VM200
Key Selector (2 position)/ VvM220-02-36, VM230-02-36 Panel mounted hole
ON L
:::’ H \J\:> 8 &
4 \ :%
or| 30|
O MAX.6
W 238 -
L 2 ‘ = JIS Symbol SOA
-4 ‘:‘) \'\ j D 2 port —
‘ | | da VOA
g na' L
T
@ ML 1(P)
& 28] @
= g 3 port
» B EXH. port | 2(A) SOA
g 71 (3 port only) —
I (\l%t v ' / 3\
g ] i o Ty LT VOA
,) ( E[ B 1(P) 3(R) SR
o : 25 | 30
4 2-Rc(PT))a 2-65 00.5MPa supply
Mounting hole F.O.F.D 39N \/M/\/R
Key can be removed in “on” and “off” positions. T.T. 90°
Twist Selector (3 position)/ VM230-02-35R, B, G, Y/VM250-02-35R, B, G, Y Panel mounted hole VH
= &
— N
o il : =N
S w\\W/ MAX.6
N
E = JIS Symbol
I = 2 port
2(A) 2(A)
| ITIL l/l 3\
MRS T
1(P)
] 3 port
Erartom 2(A) 2(A)
|
Azl 4
3{ VvV VvV
3-Re(PT)% 8(R)1(P) 3(R)
40 25 [0.5MPa supply
F.0.F.U 40N
T.T. 45°
Foot Pedal/ vM220-02-40, VM230-02-40
3-6.5 (Mounting hole)
JIS Symbol
2 port
2(A)
1
M T
1(P)
3 port
P 2(A)
Mzl L
W
1(P) 3(R)
Ro(PT)YaN 318 ]
0J0.5MPa supply
F.o.F.U 65N
T.T. 1.2°

3.5-24



3 Port Mechanical Valve

Series VM400

Specifications

NC or NO models available. Fluid

Air

Operating pressure

-100kPa to 1.0MPa

Ambient and fluid temperature

Piping possible to any port.

-5 to 60°C (No freezing)

Effective area (Cv) 7mm?(0.38)
Proper countermeasures can be taken for Lubrication Not required/Turbine oil #1 (1ISO VG32)
applications in which the noise of the exhaust Port size (Nominal size) Rc(PT)Y% (6A)
could cause problems to the surroundings. Weight (Basic) 110g
Model
Actuator Model 2;&(1?\}? Application
Basic VM430-01-00 - —
E Roller lever VM430-01-01 VM-01A Polyacetal roller
® VM430-01-01S VM-01AS Hard steel roller
g One way roller lever VM430-01-02 VM-02A Polyacetal roller
% VM430-01-02S VM-02AS Hard steel roller
£ | Straight plunger VM430-01-05 VM-05A -
S Roller bl VM430-01-06 VM-06A Polyacetal roller
g | morerpunger VM430-01-065 VM-06AS Hard steel roller
= Cross roller plunger VM430-01-07 VM-07A Polyacetal roller
VM430-01-07S VM-07AS Hard steel roller
Toggle lever VM430-01-08 VM-08A -
VM430-01-30R VM-30AR Red
VM430-01-30B VM-30AB Black
Push button (Mushroom) VM430-01-30G VM-30AG Green
VM430-01-30Y VM-30AY Yellow
s VM430-01-32R VM-32AR Red
b= VM430-01-32B VM-32AB Black
g Push button (Extended) VM430-01-32G VM-32AG Green
% VM430-01-32Y VM-32AY Yellow
2 | Push button (Flush) VM430-01-33 vm-3za  |Withasetof red, black,
g green, yellow
VM430-01-34R VM-34AR Red
Twist selector (2 position) VM430-01-348 VM-34A8 Black
VM430-01-34G VM-34AG Green
VM430-01-34Y VM-34AY Yellow
Key selector (2 position) VM430-01-36 VM-36A -

Q Note) Actuator replacement is available for all styles.

3.5-25



VM400

How To Order

VM4 3 0-01-01|S

Suffix of actuator

—— Actuator

) S Hard steel roller
Port size 00 Basic R Red L
01 | Rc(PT) Y8 01 Roller lever B_| Black | Color of push SOA
Number of ports 02 One way roller lever G |Green | button
3 3 ports 05 Straight plunger Y |Yellow
06 Roller plunger VOA
07 Cross roller plunger
08 Toggle lever
30 |Push button (Mushroom) —_—
32 |Push button (Extended) SOA
33 | Push button (Flush) L
34 | Twist selector (2 position)
36 | Key selector (2 position) VLA
Construction
VMIVR
VH
Non-actuated Actuated —

)

T

{{

J

a||ne.

ouT ouT

| —

o> ||No.

Component Parts

No. Description Material Notes No. Description Material Notes
(1) | Body Aluminum alloy Metallic plated (5 | Over travel spring Stainless steel

@ | Plunger Polyacetal ® | Retainer Brass

3 | Plunger retainer Brass Black zinc chromate treated @ | Spring Stainless steel

@ | Spool valve Aluminum alloy Rubber lined Spring Stainless steel

3.5-26



VM400

Series VM400

Basic/ VM430-01-00

JIS Symbol
ouT

2-M3X05
Actuator mount holes 27 M \
TIT
Wzl NO. N.G.
=
< e!r) = ; 28.5
. gyd 2+ =
b | F
I
° i @
| | i [ J
@ i Y | NGC.
3 N | a8 ©
[ ] I © o & NO. [
NAR Ty ’ © a Y M
OUJT 8 0 : N g
! @ L =3 ® F.O.F. 26N
21 2 M P.T. 1.5mm
3-Re(PT)l4 35 445 0.T. 2mm
Mounting hole T, 3.5mm
Roller Lever/ vmM430-01-01, VM430-01-01S JIS Symbol
ouUT
57 @17
34 Polyacetal or hard steel roller Tl
8 245 He (= N.O. N.C.
T / alo|-
1 <! L CJ )
N L1
] 4@?*4/5
<<
& ~
g e &
S & 3 X
ouT i ©
o 0 5]
L el i F.O.F. 12N
21 25 9 3Re(PT)g [ | P.T. 4mm
4-4.5 Mounting hole 35 O.T. 4.5mm
T.T. 8.5mm
One Way Roller Lever/ vM430-01-02, VM430-01-02S JIS Symbol
63 @17 ouT
36 Polyacetal or hard steel roller
8 245 === \
‘j—r‘ : / o'l TIT
N.O. N.C.
/C AN
)
2 { fo g/
p— 10
T =
o= 3
¥ NG
I &
3 © 3 No || @
0 b
OlfT 8§ 2 \! @ F.O.F. 11N
- T = o = P.T. 4mm
) a5 < 3-Re(PT)Vg/ O.T. 5mm
4-4.5 Mounting hole T, omm
Straight Plunger/ vm430-01-05 Panel mounted hole
== 212
alol- 7,0?" o
2-M20 X P1 MAX.10
o Lock nut 8Bmm thick
%% S 27mm A.F. JIS Symbol
@ . ouT
1 =R AN /\/\
;.5 TIT
NG & e NO.NGC.
& . o8 A
NO @ | ®
v I+
v/ T o} out g 2
jacy e} N F.O.F. 30N
3-Ro(PT)g 2 25 45 o1 P.T. 3.5mm
35 Mounting hole O.T. 2mm
T.T. 5.5mm

3.5-27




VM400

Series VM400
Roller Plunger/ vM430-01-06, VM430-01-06S Panel mounted hole
6 H == 917 Polyacetal or hard steel roller (77
a| gl
Al e ‘rh’ Q,Qb 7
| 2-M20 X P1
maam — Lock nut 6mm thick, MAX.10
@ 27mm A.F.
%% &9 JIS Symbol
Jrete .
| g M-I\
i =t TIT
NG & Z N.ONG.
=2 ot+8
o @ 3 ® §
2 )
| -t ouT H
dE WE HE FOF. 30N
3-Re(PT) )% © 25 4-4.5 2'1 P.T. 3.5mm
< 35 Mounting hole O.T. 2mm
T.T. 5.5mm
Cross Roller Plunger/ vM430-01-07, VM430-01-07S Panel mounted hole
= = - 6 @17 Polyacetal or hard steel roller @
oo~ [
i 2-M20 x P1 MAX 10
o Lock nut 6mm thick, -
8 27mm A.F.
R |3 JIS Symbol
! & = ouT
BESN PRI \
\ TlT
NG & 2 ONG.
. - $ X
8 No | ® 3 @ &
5 | A OtLﬁ' 0
° hd B NS 8 F.O.F. 30N
3-Re PT)% 9 25 445 2w1 P.T. 3.5mm
- 35 Mounting hole O.T. 2mm
T.T. 5.5mm
Panel mounted hole
T.T. 60° 86
ON @OFF fF (/)
QY
\\ 2M20 x P1 L 9.
) Lock nut 6mm thick, MAX.10
10 27mm AF.
%% Q2 8 JIS Symbol
© 0 ouT
1o
i s ; v \
| o TIT
No. & - NONC.
< o33
NO | Q ©
o5 ® ® e
dE = B E
3-Re(PTN)e o 25 4-45 21
= 35 Mounting hole F.O.F. 7N
T.T. 60°
Push Button (Mushroom)/ vM430-01-30R, B, G, Y Panel mounted hole
240 E|=| = &
0|O|
L
0 [
i MAX.6
JIS Symbol
i ) S
D) : o ’g A ouT
NG & ;I;_;: N T 1\
=B & = N.ONGC.
ﬁ’? @ ] o3 S
1o o Rl FOF. 26N
@ s & - P.T. 4.6mm
3-Re(PT)1s ) 25 4-45 1
ol = I:' 35 Mounting hole O.T. 1.6mm
T.T. 6.5mm

3.5-28

SOA
VOA

SUA
VOA

VMIVR

VH



VM400

Series VM400

Push Button (Extended)/ VvM430-01-32R, B, G, Y

Panel mounted hole

238
023 I
1 alc|-
© . _L
& MAX.6
g JIS Symbol
% ¢ ’;\ 2 ouUT
& ° % A X Mi1lT
» = @ a - NONC.
e N OuT Ty
™ C2 N
25 4-45 21
35 Mounting hole
F.O.F. 26N
P.T. 5.4mm
O.T. 1.6mm
T.T. 6.5mm
Push Button (Flush)/ Panel mounted hole
038 &
223 I =
. ) Ao~
e T MAX6
n — 1
= ' _ JIS Symbol
—@ ©
N ¢ =) ouT
@ o183 E
%% ® g o |7 =Y /\/\ T :\ :D
[T+
OUT f i N.O.N.C.
il & VB g
3-R 0 25 4-45_ 21
<+ 35 Mounting hole
F.O.F. 26N
P.T. 4.9mm
O.T. 1.6mm
T.T. 6.5mm
Twist Selector (2 position)/ vM430-01-34R, B, G, Y Panel mounted hole
7 ‘
-©
<
= MAX.6
39
238
0245
00 ' o JIS Symbol
A\ A
ouT
il AN
2]
8 = &V TIT
N |s N.ON.C.
=
NG. & é
& ¢
NO. Jo g o B &
o - N7 S
3 ] ouT i
L] t“_‘) N
© 26 4-45 21
A 35 Mounting hole F.OF. 20N
T.T. 90°

3.5-29




Series VM400

VM400

Key Selector (2 position)/ vM430-01-36

T.T.

ON

OFF

\

21

1.5
ﬁ
305

3.
221
(1056)
(1266)

Key can be removed in “on” and “off” positions.

& =

= © o

152 o3|~
Il s | |
7 Qf ot
2 e

3-RePT)%6 25 4-45

- 36 Mounting hole

q

o
el
5

225

Panel mounted hole

oL

SOA
VOA
JIS Symbol
ouT
] XA | [soa
N.O.N.C. —
VOA
VMIVR
VH
F.O.F. 20N -
T.T. 90°

3.5-30



3 Port Mechanical V alve/Heavy Duty Style

Series VM8E00

Sturdy Construction.

NC and NO models available.
Piping possible to any port.
Many actuator positions and
orientation options.

3.5-31

Specifications

Fluid

Air

Operating pressure

—100kPa to 1.0MPa

Ambient and fluid temperature

-5 to 60°C (No freezing)

Effective area (Cv)

6mm?(0.33)

Lubrication Not required/Turbine oil #1 (ISO VG32)
Port size (Nominal size) Rc(PT) I/8 (6A)
Weight (Basic) 180g
Model
Actuator Model Actuator part No.
Basic VM830-01-00 —
Roller lever VM830-01-01 VM-01F
Adjustable roller lever VM830-01-13 VM-13F
Adjustable rod lever VM830-01-14 VM-14F
Q Actuator replacement is available.
How to Order
L—— e Actuator
Port size 00 Basic
01 | Rc(PT)Vs 01 Roller lever

Number of ports

3 3 ports

Applications

13 | Adjustable roller lever
14 | Adjustable rod lever

Standard Movement is changeable
movements
Actuated | Actuated  Free travel | Actuated

Stepped
plunger K7

&

Lever location can be
changed

hexagon

© lever.

<—J Undo screw to
adjust through
360°

ActL{ated [Free travel
/

oN;

Head direction can be changed

Loosen the

socket bolt
.1 1o adjust the

Roller can be mounted to inside of lever

Undo screw to
adjust rod length
It can be operated
by bending the rod.
In this case, make
m sure that the
minimum bending
radius of the rod is
10R or more.

MAX1412




Construction

VM800

Non-actuated

@ @)

ouT

N.C.

N.O.

Component Parts

Actuated

ouT

No. Description Material Notes No. Description Material Notes
1 | Body Aluminum alloy Metallic plated @) | Over travel spring Stainless steel
@ | Plunger Polyacetal ® | Retainer Brass
(3 | Spool valve Aluminum alloy, NBR Rubber lined ® | Spring Steel Zinc chromate
Series VM800
Basic/ vM830-01-00 4-M3.5 X0.6
Actuator mount holes
JIS Symbol
| ouT
: A
TiT
‘ N.ON.C.
= < 19+0.2
PR ©
H & ('S 'l: 4-5.1 Mounting hole 2 4-M6 X1
T 15mm depth
= & S B AES
w0
L} p PNE
e * i 3 <&
4 O~
- ' Budl(vme $ 5 @
=
Fany any i
: 5% 5% LNOF N _a-Re(PT)1/8
| | F.O.F. 23N
30 30+0.2 PT. 1mm
40 O.T. 2mm
T.T. 3mm

3.5-32

SOA
VOA

SUA
VOA

VMIVR

VH



VM8E00

Series VM800
Roller Lever/ vm830-01-01 59.5
217.4X7.1
Stainless sintered roller 15 JIS Symbol
ouT
AN
~ NONG.
<
4 2
< N
7 4 A&
\v
L 0
Hexagon socket S
N head cap screw
2 A 4-M6 X 1 1 ~
S SMCI{ VM8 |T 15mm depth © 7S]
Py Pany
2 \%) -1 K
30402 ' E'?'F' 22%’:'
-Re(PT)! —
20 3-RaPT) % oT. 30°
T.T. 50°
Adjustable Roller Lever/ vm830-01-13
017.4X6.4
Black nylon roller Js Symbol
i our
a1y
© i MET
3 N.ON.C.
f_q 1 1
AN,
- &
o socket head cap \‘@EL__
¥ screw /|
[fe]
N
= -
| (8]t 4-M6 X 1
3 W :] 15mm depth
LA v

32 O At lever length 38.1mm

F.O.F.H 20N
30+0.2 4-5.1 Mounting hole PT 20°
40 3-Re(PT)Y% oT. 30°
T.T. 50°
6.4 547
. 33 15 JIS Symbol
23.2 Stainless rod
ouT
)] M
;’ M8 X 8 26.2 N.ON.C.
- Hexagon -
= \. socket head set
= H screw 1 1
M5X8
Hexagon socket\{ <
head cap screw <
© (L
3 -
Heor D .
<t
o
o~ ]
=1
+ 3
~ 1 B\ e w|
1
5 _(2 N O At lever length 141.2mm
. 3-Re(PT)4 F.O.F.J 2.3N
30 30+£0.2 PT. 20°
40 4-5.1 O.T. 30°
Mounting hole TT. 50°

3.5-33



5 Port Mechanical Valve/Metal Seal

Series VVZM40

Compact design,
Large flow capacity/Cv.0.55

High cycle rate,
Long life/300c.p.m.

Piping possible to any EXH port.

Proper countermeasures can be taken for
applications in which the noise of the
exhaust could cause problems to the sur-
roundings.

External pilot model avail-
able. (Option)

Foot bracket and manifold
mounting possible.

r‘rp‘tp '

: H \—— ba E \-—‘ 'Ei \-—' |E=
| i ! L e s
. N

Specifications
Fluid Air, Inert gas
Operating pressure 0.15to 1.0MPa @ SOA
Ambient and fluid temperature -5 to 60°C (No freezing)
Effective area (Cv) 9.9mm? (0.55) VOA
Maximum frequency (Mechanical operation style) 300 c.p.m or less -
Lubrication Not required/Turbine oil #1 (ISO VG32)
Port size (Nominal size) M.aln vaive/Re(PT) /g (6A)
Pilot valve (EXH)/M5 X 0.8 SOA
Option Foot bracket ®
Weight (Basic) 1509
OContact SMC for manifold mounting style. VDA
Q Note 1) External pilot Main valve: 0 to 1.0MPa
Pilot valve: 0.15 to 1.0MPa
Note 2) The standard body can not be retrofitted with a foot bracket.
VMIVR
Model /
Actuator Model ﬁgtrltjath.r Application VH
s Basic VZM450-01-00 - -
g Roller lever VZM450-01-01 VM-01C Polyacetal roller
o VZM450-01-01S VM-01CS Hard steel roller
o VZM450-01-02 VM-02C Polyacetal roller
< | One way roller lever
Q VZM450-01-02S VM-02CS Hard steel roller
& | Straight plunger VZM450-01-05 VM-05C -
2 Roller plunaer VZM450-01-06 VM-06C Polyacetal roller
= plung VZM450-01-06S VM-06CS Hard steel roller
Toggle lever VZM450-01-08 VM-08C -
VZM450-01-30R VM-30CR Red
VZM450-01-30B VM-30CB Black
Push button (Mushroom) VZM450-01-30G VM-30CG Green
VZM450-01-30Y VM-30CY Yellow
s VZM450-01-32R VM-32CR Red
B=] VZM450-01-32B VM-32CB Black
% Push button (Extended) VZM450-01-32G VM-32CG Green
(_2 VZM450-01-32Y VM-32CY Yellow
2 | Push button (Flush) VZM450-01-33 vmasc |V Z;e;n‘?f;;?(;x'a‘:k’
= VZM450-01-34R VM-34CR Red
Twist selector (2 position) VZM450-01-34B VM-34CB Black
VZM450-01-34G VM-34CG Green
VZM450-01-34Y VM-34CY Yellow
Key selector (2 position) VZM450-01-36 VM-36C -

Q Note) Actuator replacement is available for all styles.

3.5-34




VZM400

How to Order

VZM45 |0

01101

S

Option
Suffix of actuator - Foot bracket
. Actuator S | Hard steel roller (Only internal pilot)
Port size 00 Basic R | Red
0] RePD ¥ 01 Roller lever B | Black | Color of push
02 One way roller lever G |Green| button
Body option 05 Straight plunger Y |Yellow
0 | Internal pilot style 06 Roller plunger
1 | External pilot style 08 Toggle lever
30 |Push button (Mushroom)
32 |Push button (Extended)
33 | Push button (Flush)
34 | Twist selector (2 position)
36 | Key selector (2 position)
Construction
Non-actuated Actuated
Force
!
A
B
Componet Parts
No. Description Material Notes No. Description Material Notes
@ | Body ADC Metallic plated Valve NBR
@ | Pilot body PBT Only external pilot style: ZDC @ | Piston guide B Aluminum alloy
3 | Head cover ZDC Black zinc chromated @ | Return spring Stainless steel
@ | Spool sleeve Stainless steel @3 | Cushion Rubber
® | End cover POM Cushion Rubber
® | Piston A POM @5 | Valve spring Stainless steel
@ | Plunger POM Return spring Stainless steel
® | valve seat (A) POM @ | Piston B POM
@ | Valve seat (B) POM

3.5-35




VZM400

Series VZM400
Basic/ vzZM450-01-00
@rﬂ I -1
2l T
‘ JIS Symbol
30
(2) (f«)
05| :zszz? ) /fégegégory ,\Fﬂ’?ioﬁ tport \ / KD
el — mounting hole (Pilot exhauist port 11 VL
f I EBYP)EA)
joral
RS
-~ <L
By =) Ny
N a
= © © R
% © @ % <"
|91} —
@ B L 1N ©
& 1§£ Iy : <\ ~ 00.5MPa supply|
SJ = - 555 b F.O.F.0 16N
13 6.7 P.T. imm
> : 5-Re(PT)}
2- 3.5 Mounting hole (PT)’ O.T. 2mm
T.T. 3mm
Roller Lever/ vzm450-01-01, VZM450-01-01S
(37) 214 Polyacetal or hard steel roller
33 JIS Symbol
16.5 o .
8 17 === (B)(A)
0[O 2 4
A
| L M5x08 o P KD
4 (Pilot exhaust port) 3 15
o | e = [ (EB)P)(EA)
8 i e
o
—|N
<{ CD:
- N s
I © 3 —
b <
o L -
& ; % S
i 2 i [00.5MPa supply
'3 225 2 T
13 %67 | 5-Ro(PT)%/| 18 F.O.F. 8N
- 30 P.T. 2.2mm
2- 3.5 Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ vzm450-01-02, VZM450-01-02S
@14 Polyacetal or hard steel roller
(42)
33 e JIS Symbol
8 =165, i (B)(A)
N 11‘ - ‘/ P 2 4
mip I - ) X /
LI:;} (152.‘3 hm P ] @
== ] M5 X 0.8 3 e
iE}: N (Pilot exhaust port) (EB}PXEA)
L1} N g2l Y i
= 0 m
~ 0
! o T
| N <+
75 5| B
NN o © s T
=y ||k | ¢ & By
RIEA e~
5| | o6 = i
& \n‘J@; ]7 “ § 2 00.5MPa supply
M} (225 ] 2 F.O.F.0 7N
13 26.7,| 5-Re(PT) /718 P.T. 2.4mm
2- 3.5 Mounting hole 30 oT. 4.6mm
T.T. 7mm

3.5-36

SOA
VOA

SUA
VOA

VMIVR

VH



VZM400

Series VZM400

Straight Plunger/ vzm450-01-05

Panel mounted hole

M14 X ©
ol Lock nut 8mm thick,
= 13 S e ®/
MIN.2.5
= MAX.9.5
1 oo
é% ~ [N M5 X 0.8
= (Pilot exhaust port)
lTl piiaiing T J1S Symbol
| [
f ) = (B)(A)
1 & S W] M2 .
< & = u{%—
2N N 7 1, / KD
3 = (EB)P)EA)
of |0 Y i
& ik 7 ® I |
miE. 555 — 00.5MPa supply
13 26.7. | 5-Re(PT %/ [T F.O.FY 18N
S0 P.T 1.5mm
- 3.5 Mounting hole 1. .
238 . O.T. 2mm
T.T. 3.5mm
Roller Plunger/ vzm450-01-06, VZM450-01-06S
Panel mounted hole
9
[ === 12 Polyacetal or hard steel roller @/
il \ M14 x1 MIN. 2.5
HT 7= Lock nut 8mm thick, o [ LMAX.95
4 %L } —12 22mm A F.
b (D =[S M5 X 0.8
= (Pilot exhaust porty
qu @e% i JIS Symbol
‘ 2 o ® ")
! & &g N 24
| | Q| —
={
- e e =hY
£ T 315
~ ) ¢ s s F (EB)(P)EA)
N DS
2 0 ! 4! !
% 19 1113 g
3 55 T 0J0.5MPa supply
13 26.7 E F.O.F.0 18N
2- 3.5 Mounting hole P.T. 1.5mm
O.T. 2mm
T.T. 3.5mm
Toggle Lever/ vzm450-01-08 Panel mounted hole
T.T. )
25 .
OFF 22w o ®/
2-M14 X 1
- Lock nut 5mm thick, — [ MAXES
(e s -;r) 17mm A.F.
= 3E
| Pt o ) JIS Symbol
rl @P_ Y £ (Pilot exhaust port) ymbo
|||
= - &% (B)(A)
b i |2 4
o = j.’{ \\ /
/_:I = ¢ T T
! 0 < 3 15
SEIVNE + 8 (EB)(P)(EA)
3 *
(a2} )
1) =+ i nt
& !%2 i z | @
R 225 >
L3 267 | 5 Re(PT)/| 18
2- 3.6 Mounting hole 30 00.5MPa supply

F.OFU 15N

T.T. 40°

3.5-37




VZM400

Series VZM400
Push Button (Mushroom)/ vzm450-01-30R, B, G, Y

Panel mounted hole

040 S
‘Sig E MAX.6
T - - SCA
o AR e Mox08 JIS Symbol —
T (Pilot exhaust port)
= VOA
S8 mj@: ®)*)
)= [N 2" 4
alz
_ 52 <
T n i yar i T -
< 315
~ E 3 L s e EBIPYEN) SOA
J 1 < —
o | = ——
[32]
m = 11
Ry b s ; E | 0_'3 00.5MP [ LDA
13 26.7 - 1 18 el
e 30— 9Re(PT PT. 4.8mm
2- 3.5 Mounting hole oT. 1.7mm VM/VR
T.T. 6.5mm
Push Button (Extended)/ VvzM450-01-32R, B, G, Y panel mounted hole VH
238
224.5 cEE ‘

Y MAX.6

=

|-
15
1.5

235

PES R Tﬂﬁ\ﬁ

fz:8 eanl . M5 X 0.8
(1] b * (Pilot exhaust por) JIS Symbol
T o (B) (A)
it 1 2 4
) | Z)
m = ] /\/\
¢ = L & T T
T 15
~ (EB)(PXEA)

J0.5MPa supply

1
22.5

233 |
!
o= 9;@1“&
12.8 8
|
T %
138 36
%EQE 5
Il\)
17.8]14 | 14

26.7, 5-Re(PT) Y%/ 18 F.o.F.U 21N
2- 3.6 Mounting hole 30 P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm

Push Button (Flush)/ vzm450-01-33
Panel mounted hole

1& :
NG
W |00
PT
o,
TT.

]3]
_L_:g ﬁED [l%l MAX.6
| | 1———4.](’)':0 J L
-r |E7 — X [
Faal A Ay
t 4 1 T J Ho M5 X 0.8
| | = " (Pilot exhaust port) JIS Symbol
e~ Ty a
g|& . (B)(A)
- =2 | 2 4
5 1 et ikl /\/\
D
A =il 48D
-] Q 3 1 5
N EIFNL * ® = (EB)(P)EA)
@ o ] 4 ve] «Q
Q ’ég ] i s N
AiE 225 5-Ro(PT % __18_2_ 0 0.5MPa supply
113 23%7 e 8 F.O.F.0 21N
2- 3.5 Mounting hole P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm

3.5-38



VZM400

Series VZM400

Twist Selector (2 position)/ VZM450-01-34R, B, G,Y

e

Panel mounted hole

Al
OFF|l.__39
238 MAX.6
024.5
[ oo
fe—te—] O
v JIS Symbol
“5
A © ®B)A)
— 2 4
Ms5X08
| & (Pilot exhaust port) \
_[a8 A
= 31 5
= (EB)(P)EA)
*+ 8
H =
; o
225 P
26.7 5-Re(PT) )% ‘1%‘ . 0J0.5MPa supply
2- 3.5 Mounting hole 30 F.O.F. 23N
— TT. 90°

Key Selector (2 position)/ vzM450-01-36

Panel mounted hole

®

M5 X0.8

Mounting hole

MAX.6
238
i 5
LJ E% N L)
Ln' o]
2|8 JIS Symbol
(B)(A)
% : % T 1Y
© A4
= & . M5 X 0.8 ;\ /]’ i\
2 = g (Pilot exhaust port) 31 5
a7 o (EBYP)EA)
i S o
B 5
5 5 -
S o =
l: © £33 © | ~ ¥
@ i P i
g LIHR |3 S
ALE 22.5 , 2 0 0.5MPa supply
Key can be removed in “on” and “off” 13 2:;30'7 S-RelPTVe/ 8. F.O.F.H 26N
positions. 2- 3.6 Mounting hole, T 90°
External Pilot Style With Foot Bracket
VZM451 Type VZM450-01-00-F
46.6
2-4.5 L 38

(External pilot port)

[ S

61.8

0O L

3.5-39




5 Port Mechanical Valve

Series VZM500

Compact design,
Large flow capacity/Cv.0.6

High cycle rate,
Long life/300c.p.m.

Piping possible to any EXH port.

Proper countermeasures can be taken for
applications in which the fouling or the
noise of the exhaust could cause prob-
lems to the surroundings.

External pilot model avail-
able. (Option)

Foot bracket and manifold
mounting possible.

i ‘ﬂ
! =
PAT. PEND.

.i“i u'

e__nﬂ e_—'! L@ '- "gi
\-——

Specifications
Fluid Air, Inert gas
Operating pressure 0.15 to 0.7MPa SUOA
Ambient and fluid temperature -5 to 60°C (No freezing)
Effective area (Cv) 10.8mm2(0.6) VOA
Maximum frequency (Mechanical operation style) 300 c.p.m or less -
Lubrication Not required/Turbine oil #1 (ISO VG32)
. ) ) Main valve/Rc(PT) 18 (6A)
Port size (Nominal size) Pilot valve (EXH)/M5 X 0.8 SOA
Option Foot bracket @
Weight (Basic) 130g
OContact SMC for manifold mounting style. VOA
Note 1) External pilot style Main valve: 0 to 0.7MPa
Pilot valve: 0.15 to 0.7MPa
Note 2) The standard body can not be retrofitted with a foot bracket.
VMIVR
Model 7VH
AGRIED Model Actuator et L
ctuator ode part No. pplication
5 Basic VZM550-01-00 - -
= Roller lever VZM550-01-01 VM-01C Polyacetal roller
g VZM550-01-01S VM-01CS Hard steel roller
o VZM550-01-02 VM-02C Polyacetal roller
< | One way roller lever
RS} VZM550-01-02S VM-02CS Hard steel roller
_<C% Straight plunger VZM550-01-05 VM-05C -
[ Roller plunger VZM550-01-06 VM-06C Polyacetal roller
= pung VZM550-01-06S VM-06CS Hard steel roller
Toggle lever VZM550-01-08 VM-08C -
VZM550-01-30R VM-30CR Red
VZM550-01-30B VM-30CB Black
Push button (Mushroom) VZM550-01-30G VM-30CG Green
VZM550-01-30Y VM-30CY Yellow
VZM550-01-32R VM-32CR Red
c
IS VZM550-01-32B VM-32CB Black
g | Push button (Extended) VZM550-01-32G VM-32CG Green
qu. VZM550-01-32Y VM-32CY Yellow
= With a set of red, black,
2 Push button (Flush) VZM550-01-33 VM-33C green, yellow
[
> VZM550-01-34R VM-34CR Red
Twist selector (2 position) VZM550-01-34B VM-34CB Black
P VZM550-01-34G VM-34CG Green
VZM550-01-34Y VM-34CY Yellow
Key selector (2 position) VZM550-01-36 VM-36C —
Push-pull VZM550-01-37 - Black

Q Note) Actuator replacement is available for all styles. (Except for push-pull)

3.5-40



VZMS500

How to Order

VZMS55 | 0

01

01

Option
Suffix of actuator E [ Foot bracket
) Actuator S | Hard steel roller
Port size 00 Basic R Red
01 | Rc(PT) 143 01 Roller lever B | Black | Color of push
02 | One way roller lever G |Green |button
Body option 05 Straight plunger Y |Yellow
0 Standard 06 Roller plunger
10| External pilot style 08 Toggle lever
DExcept for 30 |Push button (Mushroom)
Q VZM550-01-37 32 |Push button (Extended)
33 | Push button (Flash)
34 | Twist selector (2 position)
36 | Key selector (2 position)
37 Push-pull
Construction
Non-actuated Actuated

Component Parts

No. Description Material Notes No. Description Material Notes
(1 | Body Aluminum alloy Metallic plated Valve seat (A) Brass

(2 | Pilot body Zinc alloy Metallic plated @ | Valve seat (B) Brass

(3 | Head cover Zinc alloy Black zinc chromate Valve assembly Brass, NBR

@) | Spool assembly @) | Valve spring Stainless steel

® | End cover Zinc alloy Metallic plated (2 | Return spring Stainless steel

(® | Piston Polyacetal 3 | Spool spring Stainless steel

@ | Plunger Stainless steel

3.5-41




Series VZM500

VZMS500

Basic/ VzZM550-01-00

] =1 = JIS Symbol
>t
(A)B)
28 4 2
" 20 2-38 AN \ T
ELE '; 04.8 Accessory mounting hole 11T
ﬁh f ‘ ot e RIEHE)
I Pilot exhaust port)
| Rl L
| = 2
i N
5 ¢ : |
o8 4128 S
~ 2|7 W%l
8| [l = T8 BUHER
- N >
4w o | 8
8 ﬁ(' 2 b 3 RIS
3'1‘3 21 16 5-Ro(PT) % 00.5MPa supply
|| - ]
232 25 F.O.F. 16N
Mounting hole P.T. 1lmm
O.T. 2mm
T.T. 3mm
Roller Lever/ vzm550-01-01, VZM550-01-01S
(37) 214 JIS Symbol
33 Polyacetal or hard steel roller
16 g (A)(B)
7] [ 42
11 A M5 X 0.8 A .
i i (Pilot exhaust port) ] /:_ T
« ® ' J) RS i3
TIg 1)(P)R2
& ﬁgr N (R1)(P)R2)
T g ¥
‘ 2 |
4 TR g | < Sl
“@ ® N
g [| L= _ - a o
"l | R Drs
i IS @ L T 2
| STy @ i S wid
A o = = 0J0.5MPa supply
p 1.6
13 25 5-Re(PT) F.OF.U 8N
2-32 28 P.T. 2.2mm
Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ vzm550-01-02, VZM550-01-02S
o14
Polyacetal or hard steel roller JIS Symbol
El= =
clelE (2)(2)
AN \
g =] /T A
g 5 1 3
M5 X 0.8 (R1)(PXR2)
E (Pilot exhaust port)
)
o ‘
= i
_ O I N#\{y
X
] {* gl |7 A
L2 o ks
8 [ e e
D 2| 3
o tEet & SR
Sf b = g s
3 21 16 0J0.5MPa supply
3 25 5-Re(PT) % F.o.F.U 7N
Mounting hole P.T. 2.4mm
O.T. 4.6mm
T.T. 7mm

3.5-42

SOA
VOA

SUA
VOA

VMIVR

VH



VZMS500

Series VZM500

Straight Plunger/ vzm550-01-05

Panel mounted hole

N
= - 285
S e
OCK nut amm thicl
' MIN.2 .5
T 22mm A.F. MAX.05
e
= M5 X 0.8
J__‘L @ 4 f;‘ (Pilot exhaust port)
0 (1)
1 - JIS Symbol
! ol
o { 3 8 g# n (2)(2)
~ Sl M
™ 8 D1 e = /r 1\
© N p i 513
2 o PR = (R1P)R2)
3 21 18
13 25 18 5-Rc(PT)% [0.5MPa supply
232 28 F.O.F.0 18N
Mounting hole PT L5mm
O.T. 2mm
T.T. 3.5mm
Roller Plunger/ vzm550-01-06, VZM550-01-06S
Panel mounted hole
)
@12 (Polyacetal or hard steel roller)
[l = MIN.2.5
-ﬁ-— NS / M14 X1 , MAX.95
Lock nut 8mm thick,
I @ o 22mmAF.
0l
~ [N
J¢v M5 X 0.8
! (Pilot exhaust port)
I—L i f JIS Symbol
.
o
i — (AXB)
; 2« 42
. oo S = 4 4 \ KD
i | ‘ 5% 3 Il
H Q| I+~ ! ) oy = 51 3
H ||l \ R (R1)(P)(R2)
, | L EIY =
g = ks i A
° 3 ] =4 = J0.5MPa supply
3 21 18] F.O.F.U 18N
113 25 18 | \5-Re(PT) )% P.T. 1.5mm
3
2-3.2 Mounting hole 2 O.T. 2mm
T.T. 3.5mm
Toggle Lever/ vzms550-01-08
Panel mounted hole
)
N
Total .
25 TT. travel 40
_-T_<_ OFF ON M14 X1
Kk Lock nut 5mm thick,
. 17mmA.F. MAXA45
n, <
0?2
~
= M5 X 0.8
— ; (Pilot exhaust port)
1] | ¥ il }
i = u
/gj ad JIS Symbol
I g (AXB)
o < > S | 42
i N Q E&
8 = 18 % S 1l
= 51 3
RGeS 5 = TS (R1)(P)(R2)
al [ 21 16| \ 5-Re(PT) )%
3 25 18
~— 2.32 28 00.5MPa supply
Mounting hole F.0.F.J 15N
T.T. 40°

3.5-43




Series VZM500

VZMS500

3.5-44

Push Button (Mushroom)/ vzMm550-01-30R, B, G, Y Panel mounted hole
240 s
‘Eﬁ ﬁ 22 /\E 5 T MAX.6
N
f T Jra R SOA
L 9 | M5x08
3:? E A o= (Pilot exhaust port) JIS Symbol —
i B & % (A)(8) VDA
J 3 24 42 .
-] SV
T | 01 T T
3] ~ o
3] 4 — 11—+ («X —
i\ - (<] © I
_{V 9 w = o
= i ] By ! E2 S ~ VOA
s = = 00.5MPasupply| ——
e 551, 5-Re(PT)%% 18 FOFD 21N
3] i O.F.
2-3.2 Mounting hole 28 P.T. 4.8mm
_— O.T. 1.7mm VM/VR
T.T. 6.5mm
Push Button (Extended)/ VvzM550-01-32R, B, G, Y Panel mounted hole VH
238
223 == ‘
| oo
09|15y i MAX.6
e ]
N
i
& == M5 X 0.8
[~ ] + (Pilot exhaust port) JIS Symbol
%) L3
| |2 o ®) (&)
i 10O = /\/\
[N
1_%=m ¢ % N ET\ /ng)
I g 5 1 3
8 | |> {13 = (R1(P)R2)
14 L e 2
EREGE P IE Dl
3 21 5-Re(PT) %% 16 00.5MPa supply
3] 25 18 F.o.F.J 21N
2-3.2 Mounting hole 28 P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm
Push Button (Flush)/ vzms50-01-33 Panel mounted hole
(>
223 |0| ===
- N l=ll
=) Te —H.axe
; L ﬁ; ; M5 X 0.8
5 i (Pilot exhaust port)
nﬂ_ ®re JIs Symbol
o) B
i ] M ® (8
0| 8| p
. ©| =
D o < @D~ B
s N4EE T T
9 ~ 41 1w oy | 2
® 3] T 5 1 3
[ o IR (R1)(P)R2)
o]
gL e 4k
3 21 16
113 ] 25 5-Rc(PT)!s 18 [0.5MPa supply
2-32 Mounting hole 28 F.O.F.0 21N
P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm



VZM500

Series VZM500

L]
i
95
:
N
>

-Re(PT) % 18

Twist Selector (2 position)/vzms50-01-34R, B, G, Y

[z

M5 X0.8

2-3.2 Mounting hole

(Pilot exhaust port) |

238
@24.5
l ® Wﬂﬂ?ﬂ”
——Y [—
IE
iy 3
o8
& ©
hd T 0| :
L] - —
: i BRI
A 2 2 o 2
21 3|
25 iE
28

Panel mounted hole

L.

JIS Symbol
(A)(B)
, 42
LR
5 1 3
(R1}(P}R2)
[0.5MPa supply
F.oF.H 23N
T.T. 90°

= |~ (Pilot exhaust port)

M5 X 0.8

156.5

(105)

(135.5)

< e

{ gil !
'} ag

B
~—

Key can be removed in “on”
and “off” positions.

0
+ g
18
e
5-Rc(PT)4 l—z%l-
2-32 Mounting hole/ | 28 |

Panel mounted hole

MAX.6
JIS Symbol
(A)(B)
| 42
-= R ¥A
51 3
(R1)(P)(R2)
[0.5MPa supply
F.OF.H 26N
T.T. 90°

Push-pull/vzms50-01-37

5-Re(PT) 4

Position ~
indicator ;\;‘
2M14X1 =
Lock nut E‘/g
5mm thick, 177mm A.F.
o
SRR
N
co
1©
o
D i
2-32 L2l R
Mounting hole||.25 |~
28

30

35

0.8

19817

Panel mounted hole

2o [

)
MAX.4.5
JIS Symbol
(ANB)
4 2
LR
1 3
NP)R2)
F.O.F. 20N
T.T. 2.7mm

3.5-45

O
A



VZMS500

External Pilot Style With Foot Bracket
VZM551 Type VZM550-01-00-F
2-4.5
M5 X 0.8 Mounting
(External polit port) hole N

56.7

| A
£ 0+¢
.,3,

o ©
1 1 m
=

3.5-46




5 Port Mechanical Valve/Rubber Seal

Series VIFM300

Specifications

Compact design,
Large flow capacity/Cv.1.0

High cycle rate,
Long life/300c.p.m.

Piping possible to any EXH port.

Proper countermeasures can be taken for
applications in which the fouling or the
noise of the exhaust could cause prob-
lems to the surroundings.

External pilot model avail-
able. (Option)

Foot bracket and manifold
mounting possible.

3.5-47

Fluid

Air, Inert gas

Operating pressure

0.15 to 0.9MPa ¥

Ambient and fluid temperature

-5 to 60°C (No freezing)

Effective area (Cv)

18mm?(1.0)

Maximum frequency (Mechanical operation style)

300 c.p.m or less

Lubrication

Not required/Turbine oil #1 (ISO VG32)

Port size (Nominal size)

Main valve-SUP, CYL port Rc(PT) /4 (8A), EXH port Re(PT)1/8(6A)

Pilot valve (EXH)/M5 X 0.8

Option Foot bracket @
Weight (Basic) 260g
Q OContact SMC for manifold mounting style.
Note 1) External pilot style Main valve: 0 to 0.9MPa
Pilot valve: 0.15 to 0.9MPa
Note 2) The standard body can not be retrofitted with a foot bracket.
Model
Actuator Model ﬁ;tr??\ltg.r Application
s Basic VFM350-02-00 - -
% |r VEM350-02-01 VM-01C Polyacetal roller
< oller lever
2 VFM350-02-01S VM-01CS Hard steel roller
o VFM350-02-02 VM-02C Polyacetal roller
< | One way roller lever
‘é’ VFM350-02-02S VM-02CS Hard steel roller
8 Straight plunger VFM350-02-05 VM-05D -
[ Roller plunger VFM350-02-06 VM-06D Polyacetal roller
= pung VFM350-02-06S VM-06DS Hard steel roller
Toggle lever VFM350-02-08 VM-08D -
VFM350-02-30R VM-30CR Red
VFM350-02-30B VM-30CB Black
Push button (Mushroom) VFM350-02-30G VM-30CG Green
VFM350-02-30Y VM-30CY Yellow
é VFM350-02-32R VM-32CR Red
© VFM350-02-32B VM-32CB Black
g Push button (Extended) VFM350-02-32G VM-32CG Green
= VFM350-02-32Y VM-32CY Yellow
§ Push button (Flush) VFM350-02-33 VM-33C With a set of red, black, green, yellow
= VFM350-02-34R VM-34CR Red
Twist selector (2 position) VFM350-02-34B VM-34CB Black
VFM350-02-34G VM-34CG Green
VFM350-02-34Y VM-34CY Yellow
Key selector (2 position) VFM350-02-36 VM-36C -

Q Note) Actuator replacement is available for all styles.



VFM300

How to Order

VFM35[0H 0201

| Option
Suffix of actuator Foot bracket
) Actuator S | Hard steel roller F | (only internal pilot)
Port size 00 Basic R | Red SOA
02 | Rc(PT) ¥4 01 Roller lever B | Black | Color of push —
02 | Oneway roller lever G | Green| button VOA
Body option 05 Straight plunger Y |Yellow —
0 Internal pilot style 06 Roller plunger
1 | External pilot style 08 Toggle lever
30 | Push button (Mushroom)
32 |Push button (Extended) SOA
33 | Push button (Flash) —
34 | Twist selector (2 position) VOA
36 | Key selector (2 position)
Construction
VMIVR
VH
Non-actuated Actuated —
Force
PE
T EXH.2

cvLz
{4l suP

cYL.1 I

W ExH

Component Parts

No. Description Material Notes No. Description Material Notes
(1) | Body Aluminum alloy Metallic plated (® | Valve seat (A) Brass

(2 | Pilot body Zinc alloy Metallic plated (@ | Valve seat (B) Brass

(3 | Head cover Zinc alloy Black zinc chromate Valve Brass, NBR

(@) | Spool valve assembly ) | Valve spring Stainless steel

() | End cover Aluminum alloy Metallic plated (2 | Return spring Stainless steel

() | Piston Polyacetal (13 | Spool spring Stainless steel

@ | Plunger Stainless steel

3.5-48



VFM300

Series VFM300
Basic/ VFM350-02-00
X rﬁ
] SN
2 &
35 JIS Symbol
PR 20 2-93.8 i M5 X 0.8 Ci1C2
Q‘l ol = 24.8 Accessory mounting hole (Pilot exhaust port) \ @
i T I
* a E1SE2
o
! M Y
: N 2
s g5 TOT
N
2 1 = an EIN
« - N ‘ TS ek
s j %i o |
of | o | 1l
1‘ ; f T 0 0.5MPa supply
30.5 F.O.FY 16N
3-Re(PT) X4 2-4.2 2-Ro(PT) % P.T. 1mm
(SUP. CYL. port) Mounting hole (EXH. port) O.T. 2mm
T.T. 3mm
Roller Lever/ VFM350-02-01, VFM350-02-01S
14 Polyacetal or hard steel roller
8 1733 He]H C1c2
0O
/ A\l /ARD
M5 X 0.8 E1SE2
ald T (Pilot exhaust port)
g ¥
| R 5
T ~| T i
’('\? i
© A
Oy 3 AEE O
~ )
o | Y3 e HaniE
% * E
}J> - < & 1®
= O o T
@ & = \%( | o 1J0.5MPa supply
T
305, 26.4_\2-Ro(PT) % F.O.F. 8N
3-Re(PT) 14 35 2-4.2_ (EXH. port) P.T. 2.2mm
(SUP. CYL. porl) Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ vVFM350-02-02, VFM350-02-02S
014 Polyacetal or hard steel roller
(42) /
P i JIS Symbol
<l ,/ o= Mo1o2
(5\ =, / <D
M5 X 0.8 E1SE2
% I (Pilot exhaust port)
]
WAl iy
%a ,‘P,@
3 m
N >
Aol R O
N 3 ~ @
Q © - QTN | =
N ~ fat
Yy o [
5 X4 |2
Z /} 2 & f€4 N [J0.5MPa supply
|
‘ 30.5 26.4 F.O.F. 7N
3-Re(PT) 14 35 2:42 2-Re(PT) % P.T. 2.4mm
(SUP. CYL. port) Mounting hole (EXH. port) O.T. 4.6mm
T.T. 7mm

3.5-49




VFM300

Series VFM300
Straight Plunger/ VFM350-02-05
Panel mounted hole
oo+ e M18 x 1 MIN.3
Lock nut 19mm thick, MAX. 11
27mm A.F.
N
M5 X 0.8 SOA
_:H (Pilot exhaust port) —
\h_\ B | & ’ l JIS Symbol VOA
il | R o] C162 L=
i Tt
I ‘
HE 148 L AIARD
! S XA
A <) e E1SE2 —_—
Wy o | @ SOA
© 3 LT o |2
N ¢ -UW ——
A B o VOA
T ~ — 00.5MPasupply| ——
0.5 26.4 5]
3-Re(PT)% 35 2-Ro(PT) )4 F'F?f' 125(:1lw\lm
(SUP. CYL. port) . EXH. port L :
2-4.2Mounting hole ( port) oT. omm VMIVR
T.T. 3.5mm
Roller Plunger/ VFM350-02-06, VFM350-02-06S VH
Panel mounted hole L
NV 215 Polyacetal or hard steel roller -
L : ® f
TR / tmimt T1mm thick M
OCK nu mm tnick, : MAX. 11
J{%L o) 27mmA.F.
= o)
~ o)
- M5 X 0.8
7 ? (Pilot exhaust port) JIS Symbol
i 1 ~ Cc102
| ~ = E T T
o o E1SE2
Ay = ID
) ¢ P
Q 2 Tl< orN %
Yy SN o
> > [ mAa =
2 { £ 1 Rg >I<=\J o 0J0.5MPa supply
- %5 5 F.o.F.U 20N
3-Re(PT) 4 35 2-Re(PT) % P.T. 1.5mm
(SUP. CYL. port) 2-4.2 Mounting hole (EXH. por) oT. 2mm
T.T. 3.5mm
Toggle Lever/ vFM350-02-08
X Panel mounted hole
25.5 TT. 4(«)(")\l
OFF 2-M18 x 1
= ///7/7 Lock nut 5.5mm thick,
VZ a 24mm A.F. MAX.7.6
|| rI0Y
== <
2
N
M5 X 0.8
1l (Pilot exhaust port)
J R4 = j/ JIS Symbol
= B 5§ &l | ¢1C2
— M=
5 %r\ .\r\‘
P J2 O e
4| Y3 HE oy |2
3 i % 5 o~ e
@ . m 0.
of | /78 B Ot
L=
3-Ro(PT)% 30.5 26.4
(SUP. CYL. port) 35 2-Re(PT) % 1J0.5MPa supply
2-4.2Mounting hole (EXH. por) FOFL 15N
T.T. 40°

3.5-50



VFM300

Series VFM300
Push Button (Mushroom)/ VFM350-02-30R, B, G, Y Panel mounted hole
===
ook
240 &
| —
10| 1 Q MAX.6
- —1?\? —-MA2D
(] z L] M5x08
= | O | (Pilot exhaust port)
T4 = E: JIS Symbol
~ G102
£ ‘ S 2 ‘ M /
§ N m o T
v L
~|e TS E1SE2
(}Z D] g o B
Q ol T 8{\ 2
oY o RdE
5 VL
of | oo ] Qo
= - J0.5MPa supply
305 26.4 F.0.F.0 21N
3-Re(PT) Y 2-4.2Mounting hole 2-Re(PT) % P.T. 4.8mm
(SUP. CYL. port) (EXH. port) O.T. 1.7mm
T.T. 6.5mm
Push Button (Extended)/ VFM350-02-32R, B, G, Y Panel mounted hole
238 | H |_
223 oo H
—_— 0 LE 10 "
L_am — I8 % MAX.6
b I W
=n| 2 M5 X 0.8
rf#j: i |Fj# h inl (Pilot exhaust port)
! }E ﬁl_ k ] JIS Symbol
N~ >
I G1 G2
St | AT/
SN AY s |7 = EETSI—:z .
. I D g P
8 e al Q bt c —
3 s E
N 3 L7 ; XA |-
‘ ‘. [ ] i 2 >JO £ K S L o
p 305 6.4 [J 0.5MPa supply
5 2-Re(PT) % F.O.F.0 21N
w 2.49M ting hol (EXH. pory) P.T 4.8mm
- 4.2 Mounting hole — -
(SUP. CYL. port) &2 2.2 Vounting hote o.T. 1.7mm
T.T. 6.5mm
Push Button (Flush)/ vFM350-02-33 Panel mounted hole
238
223 HHH ‘
[alje 1ty
OO —= MAX.6
b = | = "
I L .| Msx08
T B Sy Pa (Pilot exhaust port)
1°7r* 'k JIS Symbol
: 5 < 0162
) |
| | ~|NT m Q:D
o glc e L
o =D E1SE2
s ¢ "
™ ! - 0T |E
[aY] C
)3 = o
A%
= e s
T
30.6 26.4 0 0.5MPa supply
3-Re(PT) Y 35 2-Re(PT) 4 FOFD 21N
(SUP. CYL. port) 2-4.2Mounting hole (EXH. port) .P T - 2.8mm
O.T. 1.7mm
T.T. 6.5mm

3.5-51




VFM300

Series VFM300
Twist Selector (2 position)/ VFM350-02-34R, B, G, Y banel e 1o
anel mounte ole
I MAX.6
SOA
I.Q
2l —
& £ JIS Symbol VOA
"’Fé M5 X 0.8 nRLSR
s # i a LA (Pilot exhaust port) n /
) ‘ |2 roa E1SE2 S
He 8 SOA
EN 5° o
o o 0,
41 e P4 VOA
\'7 N 'U&J 1), —
5] 5 o ®
of |£79 S 2O
—x - 10.5MPa supply
30.5
3-Re(PT) 35 ’\2—4.2Mounting hole \M& FoFU 23N VM/VR
(SUP. CYL. por) (EXH. port T.T. 90°
Key Selector (2 position)/ VFM350-02-36 VH
Panel mounted hole E—
MAX.6
238
L z J)
JIS Symbol
0
8 [ G162
= : MY
n
~ M5 X 0.8 E1SE2
:fj: < % }:ﬁ_ (Pilot exhaust port)
g Z
§” )
~|=
@ m.
Faa s @ 015
IR o |2
pe -
DA - dF
>
2 © kg SO Tn
30.5 26.4
3-Re(PT) 4
SUP. CYL. por) 35 .|\ 2-42Mounting hole 2-Ro(PT)% 00.5MPa supply
) N (EXH. por}) F.O0.F.H 26N
Key can be removed in “on” and “off” positions. TT. 90°
External Pilot Style With Foot Bracket
VFM351 Type VFM350-02-00-F . .

2-4.5
M5X0.8 Mounting hole

(External pilot port)

e
¢

63.6

I

3.5-52



5 Port Mechanical Valve/Metal Seal

Series VFMZ200

Specifications
Compact design, Fluid Air, Inert gas
- Operating pressure 0.1to 1.0MPa @

Large flow CapaCIty/CV'l'O Ambient and fluid temperature -5 to 60°C (No freezing)

: Effective area (Cv) 18mm?2(1.0)
ngh C_yC|e rate’ Maximum frequency (Mechanical operation style) 300 c.p.m or less
LOng ||f9/3000pm Lubrication Not required/Turbine oil #1 (ISO VG32)

.. . . . . Main valve Rc(PT) 1/4 (8A)
Piping pOSSIble to any EXH port. Port size (Nominal size) Pilot valve (EXH)/M5 X 0.8
Proper countermeasures can be taken for OPFiO” i Foot bracket ®
applications in which the noise of the Weight (Basic) 300g
exhaust could cause problems to the sur- OContact SMC for manifold mounting style.
roundings. Note 1) External pilot style Main valve: 0 to 1.0MPa

Pilot valve: 0.1 to 1.0MPa
External p||ot model avail- Note 2) The standard body can not be retrofitted with a foot bracket.

able. (Option)

Model
Foot b_raCket and manifold Actuator Model ﬁgﬁi}gr Application
mountlng pOSSIbIe' s Basic VFM250-02-00 — —
'@ Roller lever VFM250-02-01 VM-01C Polyacetal roller
Q VFM250-02-01S VM-01CS Hard steel roller
o VFM250-02-02 VM-02C Polyacetal roller
< | One way roller lever
Q VFM250-02-02S VM-02CS Hard steel roller
§ Straight plunger VFM250-02-05 VM-05D -
S Roller ol VFM250-02-06 VM-06D Polyacetal roller
= | morerplunger VFM250-02-06S VM-06DS Hard steel roller
Toggle lever VFM250-02-08 VM-08D -
VFM250-02-30R VM-30CR Red
VFM250-02-30B VM-30CB Black
Push button (Mushroom) VFM250-02-30G VM-30CG Green
VFM250-02-30Y VM-30CY Yellow
é VFM250-02-32R VM-32CR Red
© VFM250-02-32B VM-32CB Black
g Push button (Extended) VFM250-02-32G VM-32CG Green
= VFM250-02-32Y VM-32CY Yellow
% Push button (Flush) VFM250-02-33 VM-33C With a set of red, black, green, yellow
= VFM250-02-34R VM-34CR Red
Twist selector (2 position) VFM250-02-34B VM-34CB Black
VFM250-02-34G VM-34CG Green
VFM250-02-34Y VM-34CY Yellow
Key selector (2 position) VFM250-02-36 VM-36C -

Q Note) Actuator replacement is available for all styles.

3.5-53



How to Order

VFMZ200

VFM25

0

02101

S

Option
Suffix of actuator Foot bracket
= Actuator S Hard steel roller F (Only internal pilot)
Port size 00 Basic R Red -
02 | Ro(PT) Va 01 Roller lever B | Black | Color of SOA
02 | One way roller lever G |Green | Push button I
Body option 05 Straight plunger Y |Yellow VOA
0 Internal pilot style 06 Roller plunger
1 | External pilot style 08 Toggle lever
30 |Push button (Mushroom)
32 |Push button (Extended) ——
33 | Push button (Flush) SOA
34 | Twist selector (2 position) —
36 | Key selector (2 position) VOA
Construction
VMIVR
VH
Non-actuated Actuated —
Force

13
1 & ®
i —=FlpE -3
2 |
i 7 2
ok )
@ i a =J[- EA
o2l Tk ®
AR °
o e } -
= i
B.* - ‘ {i 17
i @
@] i EB
R - /1;
a— i | | /‘:S;
@ - Eilt____ b
@
Component Parts
No. Description Material Notes No. Description Material Notes
(1 | Body Aluminum alloy Metallic plated (12 | Cushion for end cover Urethane rubber
(@ | Pilot body Zinc alloy Metallic plated 13 | Plunger Stainless steel
(3 | Head cover Zinc alloy Black zinc chromate (19 | Valve seat (A) Brass
(@) | Spool/sleeve Stainless steel 1 | Valve seat (B) Brass
® | End cover Polyacetal Valve NBR, Brass
(&) | Piston guide Brass 7 | Return spring Stainless steel
(@ | Piston guide for end cover Brass Return spring Stainless steel
Piston Polyacetal Valve spring Stainless steel
(9 | Piston for end cover Polyacetal 20 | Mini Y packing NBR
(0 | Guide bushing Polyacetal @) | Mini'Y packing NBR
@) | Cushion Urethane rubber

3.5-54



VFMZ200

Series VFM200

Basic/ VFM250-02-00

%ﬁg
e |

: JIS Symbol
2-938 M5 X 0.8
- 20 . : (B)(A)
[ [ 1 Accessory mountin,
&_gp; ,ﬁs 08 ry g /(Pilot exhaust port) 2\\4 g)
: T
[Q}m L 315
i (EB)(P)EA)
Ny N ¥
o |9
> ez olaty
o T a8
« 15 i/l
el . G
9 g o o WS
S | ! ™ ?‘ ol 0J0.5MPa supply
I L i F.O.F.Y 16N
4 5.5 ‘ 28 [12 P.T. 1mm
3-4.5 Mounting hole M O.T. 2mm
T.T. 3mm
Roller Lever/ VFM250-02-01, VFM250-02-01S
214 Polyacetal or hard steel roller
(37) JIS Symbol
2%35 =i=H
@1 cn aoH (B){(A)
B m 2" 4
o
o L Msxos T\ /@
T ] (Pilot exhaust port) 3 1 8
‘ (s © 1?4“ (EB)(P)YEA)
&? — ! il
N
! ©
13 N | 2 o
N X 7/
ST < Pl
& i I é <
ol 4B
o < 63 (39
dife HE N\ Ri%)
3] o™ miN
\ @ N J0.5MPa supply
4[] 5.5 28 2 F.OoF.U 8N
40 23 P.T. 2.2mm
5-Re(PT) ) 3-4.5Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ VFM250-02-02, VFM250-02-02S
(42) @14 Polyacetal or hard steel roller
e 33 o
% 153'5 NS JIS Symbol
T (B)(A)
i j Qg 1T J 2 4
=4 B i AL kD
] S A Mbx08 1
4 |@r‘ \w (Pilot exhaust port) 31 5
g © i EB)(P
s 3 BGE (EB)P)EA)
‘ \ T
| o “
b | o f
[ N @’é’
8 —€§> = | 4 m[ <
i S o |1 |x €9$ &
> Jo— 3 T
ol IS |
> o~ NER N o €§ «
o o ) d i NL
i MiZs RE i U] 0J0.5MPa supply
! T - T
4 55 5 S F.O.F. 7N
\5-Re(PT) )2 ) O.T. 4.6mm
3-4.5Mounting hole T Zmm

3.5-55




VFMZ200

Series VFM200
Straight Plunger/ VFM250-02-05
Panel mounted hole
e o @
a1 oo M-18 X1 ‘ MIN.3
Lock nut 11mm thick, MAX.11
Y 27mm A.F.
Q8 8 | —_—
M5 X 0.8
‘ t (Pilot exhaust port) SOA
m 5 ——+ W JIS Symbol
— T (B)(A)
3 ~ 0 2 4 VOA
| i o /M L
$ i i r\g 1\ / @
| @ 4
| I T 315
@} i = i/ (EB)(P)EA) E—
il S )4 e SOA
Syl R A —
< ! &
S O3L Ny | e VOA
© i | E " o & 0J0.5MPasupply| —
it }
) 55_| | %8 z F.0.F.J 20N
1 40 23 P.T. 1.5mm
5-Re(PT))a 3-4.5Mounting hole O.T. 2mm VM/VR
T.T. 3.5mm
Roller Plunger/ VFM250-02-06, VFM250-02-06S VH
Panel mounted hole L
. =l 215 Polyacetal or hard steel roller
— aloH MIN.3
/ M18 X 1 MAX. 11
! I Lock nut 11mm thick, -
+ 27mm A.F.
N
& M5 X 0.8
(Pilot exhaust port) JIS Symbol
[ o1 [
= 3 (Sﬁ) (4A)
I
—~ : /™M
- \ i1 /KD
‘ R ! I T
@ . &5; ? ESB ’13 5
i a EA
R ézlb N g;\r‘ (EB)(P)EA)
sl | L e
el s 72
93 I N | ﬁ{im {“ n
& | Ik | N i ul BN 00.5MPa supply
} 0
I F.O.F. 20N
4 2
89,128 23 P.T. 1.5mm
5-Ro(PT)% 3-4.5Mounting hole O.T. 2mm
T.T. 3.5mm
Toggle Lever/ VFM250-02-08
Panel mounted hole
5.5
! Lock nut 5.5mm thick,
: 24mm AF. L MAX7E
M5 X 0.8
N ! (Pilot exhaust port) JIS Symbol
&
[ 1 14 [ B®
> g i 2 4
2 b % g&
| !\: 3 1 L
! 5
% & Vansin (EB)(P)(EA)
b= ! Eﬂi <
S~ = ok
« 49 ‘ \ & N <
™% < | “ _{ \‘U 8
N : o N
& @7 = HJ( i S G Jg N
|
4|l 65, | 28 |
5-Re(PT) Y4 40 00.5MPa supply
F.o.F.U 15N
T.T. 40°

3.5-56



VFMZ200

Series VFM200
Push Button (Mushroom)/ VFM250-02-30R, B, G, Y Panel mounted hole
240 Eg::
i i Il i ‘ MAX.6
N ————
E 3
| l JC") (] L 1]
(] e x [&] M5 X 0.8
- j@ ¢- (Pilot exhaust port)
|
[T NS =R JIS Symbol
=5 B) (A
B e w7
pans m[ <
3>
. : pCE SN
g g SEAE: 3 15
T < \ A & (EB)(P)EA)
N 4 g N \
N 5 I a ¢
& ) ol § 00.5MPa supply
4 111 55 28 2 F.O.FY 21N
40 23 P.T. 4.8mm
5-Ro(PT) % 3-4.5Mounting hole O.T. 1.7mm

T.T. 6.5mm

Push Button (Extended)/ VFM250-02-32R, B, G, Y Panel mounted hole

238 Hi=F 1.
023 el ‘
a0 T ] A maxe
% .f:f"IE =)
T T B ‘T = ES\ (Pilot exhaust port)
] b il -~
=0 ™~ O
\ N~ L19m JIS Symbol
n—)’\_/
2 (B)(A)
N 4= | \ /
< &% > 4 T < > 8 T
sk L & é% < 315
e . P (EB)(P)EA)
o
2 M (C:', > Jrln N
® H @ 2 o 0J0.5MPa supply
4 55 iS 2J3'_2 F.O.F.J 21N
0 P.T. 4.8mm
5-Re(PT) 4 3-4.5Mounting hole oT. 1.7mm
T.T. 6.5mm
Push Button (Flush)/ VFM250-02-33 Panel mounted hole
038 Hi
%) oo
__ _ & _MAx6
i S EN
L L] erm L‘___‘_] M5 X 0.8
] = R © 1 ] (Pilot exhaust port)
) : 4
ST | i
T ™~ | T, JIS Symbol
og
P
N i e | (S’) (4A)
i = )
d N M
6 - peE e\l £RD
5] 5] 1< 315
Tlogl s (EB)P)EA)
o * N o oA
809 Y )8 2l
| N [10.5MPa supply
4.4 551, 28 3-45 12 F.O0.F.J 21N
& 40 Mounting hole 23 PT. 4.8mm
5-Re(PT) 4 O.T. 1.7mm
T.T. 6.5mm

3.5-57




Series VFM200

VFMZ200

Twist Selector (2 position)/ ON =
VFM250-02-34R, B, G, Y Panel mounted hole
a ?
. 024.5 d
i OFF| 730 | MAX.6
9 ©) el 1
- - m  —
é%%_ SOA
H—‘% 9 M5 X 0.8 N
r Tt Ny (Pilot exhaust port) 31S Symbol VOA
TPTHY I —
T i) BY(A)
| 12 4
oo S
Ho: o ‘ ~8|T AN [
@ 2 : % i ol T SA
off AN = an |8 (EB)P)EA) —
- g, O < j=d
LN R oty 5 g VOA
T sl Tk O S
y o \e = B o - THS
V =F 54 28 B § 0J0.5MPa supply
4 23 F.O.F. 23N
\5-Rc(PT)% 3-4.5Mounting hole T.T. 90° VMIVR
Key Selector (2 position)/ VFM250-02-36 30 VH
z L
S Panel mounted hole
- ) <,
" t MAX.6
X 238 %
&
S\g T 1
feNE
- —|2
(2]
I [ To.
L A ( 1 ] @ . d msxos JIS Symbol
‘?iiif —J’;Jﬁ ;[ll_ e (Pilot exhaust port) (B) (A)
1 | |2 4
. S [ 13 MV
[ Ho: 0 s l =
\@ ; 5 '\a 31 8§
off> @ = NG (EB)P)EA)
«@ g B D> . D[+
u A K= < Fﬁ 8
R ‘?‘_m«f & HE
V of [ T N H N ) -
e NRilEAE WEE
1 |
4 114 5.5 28 2 00.5MPa supply
e peRo(PTY— T (3.4 2 FOFD 26N
Key can be removed in “on” and “off” positions. Mounting hole TT. 90°
External Pilot Style With Foot Bracket
VFM251 Type VFM250-02-00-F 44.4
34.4 | 245
M5 X 0.8 Mounting hole
(External pilot port) =
e |
ijl g Y
il Fo?t
N e
g 06%:0
/‘ ' b
la e N
| T
©
(o]

3.5-58




Related Products VR3200/3201
Pneumatic-Electric Relay

Model/Specifications

Pneumatic-electric relay converts VR3200-01 VR3201-01
pneumatic signal to electric relay. Copstructlon — Closed terminal (with protect case)

Weight 1309 260g

Operating pressre 0.1 to 1.0MPa

Ambient and fluid temperature -5 to 60°C (No freezing)

Contacts lab

Port size (Nominal size) Rc(PT)Vg (6A)

Micro Switch Rating

Non-inductive load (A) Inductive load (A)
Voltage Resistance load Light load Inductive load |Electric motor load
N.C. N.O. N.C. N.O. N.C. N.O. N.C. N.O.
AC125V 15 15 4 2 10 10 4 2
AC250V 15 15 3 15 10 10 3 15
DC8V 15 15 3 15 15 15 5 2.5
DC14V 15 15 3 1.5 10 10 5 2.5
DC30V 6 6 3 1.5 5 5 5 2.5
DC125V 0.5 0.5 0.3 0.3 0.05 0.05 0.05 0.05
DC250V 0.25 0.25 0.2 0.2 0.03 0.03 0.03 0.03
JIS Symbol .
Construction
O___
m—— IN
O]
—
4 [ ]
. Y \
N
®] O
A\ Precautions T
= = e e e e Component Parts
1Be sure to read before handling. 1 No.| Description Material Notes  No.| Description Material Notes
IRefer to 0-33 to 0-36 for Safety Instructions 1 @ | Body Brass @ | Spring Stainless steel
land common precautions. 1 @ | cap Brass (® | Micro switch Contacts 1ab
e e e e ] ® | Piston Polyacetal
| Piping | Dimensions
: VR3200 VR3201
A\ Warning
@®When connecting a pipe fitting to the IN 2-M4 X 45
port, place the wrench over the hexagon J ‘
portion of the lid. 7~
If the wrench is placed over the microswitch ] N
body, the neck of the microswitch could 23,3 Re(PT)1/8
break.
a2 19
\
| 022
0| ™~ t
<+ ,Q ,r::
04.2 &
42, o
v o
< Y b =
ol K T — .1n.r-uu
19 25.4_1__1:36 7.45
49.2

3.5-63




Related Products VR3100

Pneumatic Indicator

Indicates the presence of pneumatic pressure.
It is equivalent to the pilot lamp of an electrical
system.

Related Products VR3110

Miniature Pneumatic Indicator

This is an ultra-compact air indicator light to monitor
the presence of air pressure. It is equivalent to the
pilot lamp of an electrical system.

Symbol Symbol
. e e .
Model/Specifications Model/Specifications
VR3100-01R \ VR3100-01G \ VR3100-010 VR3110-01R VR3110-01G
Operating pressure 0.1 to 0.8MPa Color of indicator Red Green
Ambient and fluid temp. -5 to 60°C (No freezing) Operation Piston style
Frequency 100 c.p.m or less Operating pressure 0.15 to 1.0MPa
Color of indicator Red [ Green [ Orange Ambient and fluid temp. -5 to 60°C (No freezing)
Port size (Nominal size) Rc(PT) /8 (6A) Frequency 300 c.p.m or less
Weight 409 Port size (Nominal size) R(PT)Ys (6A)
Weight 69
Construction/Component Parts Construction/Component Parts
Colored piston (Red, Green)
No. Description Material Notes No. Description Material Notes
(D | Body Aluminum alloy (D | Body Brass
(2 | Indicator window Acrylic (2) | Piston A Polyacetal
(3 | Piston Polyacetal ® | Plug Polyethelene
(@ | Spring Stainless steel @ | Spring Stainless steel
® | Packing NBR ®) | Oring NBR
Dimensions Dimensions
Panel mounted hole
! Stroke 2mm Re(PT)1/8
65.5 MAX.9
(17.5) 48 P 1
JZNY )
5 Re(PT)1/8 B4
N
& 10 4 10
el & 17
[SY] 9
’
M22 X1
Panel /U

3.5-64




	Overview
	Precautions
	VM1000 Micro Mechanical Valves
	Dimn's

	 VM100 2/3- way - CV .14
	How To Order
	Dimn's

	VM200 - 2/3 way -CV 1.0
	How To Order
	Dimn's

	VM400  Universal Porting CV .38
	How To Order
	Dimn's

	VM800 - 3 Port Heavy Duty Mechanical Valve
	Dimn's

	VZM400 4 way - .55 CV
	How To order
	Dimn's

	VZM500 - 5 port - .6 CV
	How To Order
	Dimn's

	VFM300 - 5 port Mechanical Valve/Rubber Seal 1.0 CV
	How To Order
	Dimn's

	VFM200 - 5 Port Mechanical Valve/Rubber Seal 1.0 CV
	How To Order
	Dimn's

	VR - Pneumatic - Electric Relay
	VR - Pop Up Indicators



